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Jean Piaget believed that knowledge 1s

(1) a visible behavioural change that can be measureg with reliability.

(2)  constructed by the child rather than being, passed |1uHHim_-|}, frﬂl‘l‘; he environment.
(3) innate and given rather than m'quirl"li ”"'“lluh Interactions,

() co-constructed in interactions with more knowledgoable others.
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Which of the following statements about adolescence is not correct ?
(1)  Children across different cultures usher in and experience adolescence in a similar manner.
(2) Adolescence is a social construction.

(3)  Adolescence is generally considered to begin with puberty - the process that leads to sexual
maturity and the ability to reproduce.

(4) Adolescence is developmental transition between childhood and adulthood entailing physical,
cognitive and psvchosocial changes.
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Which of the following describes a mastery goal orientation ?
(1) focus on avoiding failure or punishment for fear of humiliation.

(2) focus on achieving a certain level of performance for competing with others.
- & F ®
(3) focus on improving ones skills and understanding of a task.

(4) focus on achieving a high grade for receiving external rewards.
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4. Which of the following beg descrily

(1) The teacher lets the child e % the role of the teacher in progressive education 7

0 loarn ; . , . :
learn independently and does not interfere in thejr learning.

(2) The teacher is the primmy

(3) The teacher providoeg dive

hource of knowledge and authority in the classroom.
I'se . . . ) .
as and when required, L Materials for children to experiment and provides scaffolding

[.n The teacher is I'I;_'Hrmm.;ihh, or _ )
g I' ¢ Nsuring strict adherence to curriculum standards.
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5.  According to Jean Piaget the ﬂl‘lilit}* lo use symbols for symbols such as letting the letter X stand for
an unknown numeral duvulups during ' and enables the children to learn .

(1) formal operational stage; conservation and seriation

(2) concrete operational stage; algebra and calculus

(3) concrete operational stage; conservation and seriation

(4) formal operational stage; algebra and calculus

o foarst & sran fa=i & feu fomeil @ wam 00 &) e 53 fd sier X = ST 31 o forg | <6
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(4)  shoenfia dimarra s, S s T

11 ’ W 1ot - - Fe 1 218 '?
6.  Which of the following is an example of a question that requires students to analyze information ?

(1)  Who is the prnlni;uniﬁt of “To Kill a P\Im:king'hinj'-'? "

(2) What is the plot of the novel “T0 KiI{ a h-'lmkmi-;lun,l- ?

(3)  What is the theme of the novel "Tﬂ I\jlll 1 'l‘s’lnikmghmi '? -

(4)  How does the author use symbolism fn It:s ]\Il{ﬂ fvlnfl-;mﬂh:rd ? ‘
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7.  Assertion (A) : nal attachment to the

STUAENIS afe mofe likelv to do well and stay in school if they have emotio

school and belieye that they matter.

Reason (R) - '

Emotions Play a significant role in learning.

Choose the correct option :

g; gzlh (A) and (R) are false.

(;) BO:}I: (A) and (R) are true and (R) is the curmpt explanation of (A).

0 ’ (A) and (R) are true but (R) is not the correct explanation of (A)-
(A) is true but (R) is false.

(1) (A) 3R (R) 25 =5 2

@) (Mﬁﬁ(MﬁHﬁ%ﬁh(A}ﬁr(nmﬁwm%l

(3) (mmtﬂlﬁﬁfﬂﬁﬁﬁﬁﬂ(mﬁr(nmﬁm?ﬁm%:
(%) (A) ¥ % &fF3 (R) 7o 2 |

8. Asking Critical '
questions such as “how much |
r . . ﬂn F L
textbooks and media” would encourage : () whatw

(1) Discouraging TP
3 gender role flexibility 2 s
() Strengihening gender consiney (1) ingonan s, SoTaC" Sereotypes
: HAIT A ~ — ) y Sender identity
NSTIEFI mﬁmqﬁfmwmﬁrﬁrﬁﬁmmﬁ]aﬂhmmﬁ‘ ;‘;mmt}%,.

-

921 | faa vreares fgam o

aVs are various gender represented in
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10. Ina pmgressijm CIEISSI'{)DI'I‘I;L .a?ﬁessment is :
(1) Normative ‘ (2 Dynamic (3) Objective () Summative
uF yfaeie FE H e
o TEIEAENG Q) vinimamt () TEEME |y A
— |
11.  Alok shows the following behaviours : Holds head in an awkward position when reading; squinting
and rubbl.ﬂg.t-he eye frequen tly; redness/swelling of eyes; confusing letters, These can be symptoms
of potential : I\
(1) Communication disorder (2) Visual problems
(3) Language comprehension problems (4) Autistic spectrum disorder
s Frefafed sraen fram § - wh g fo =1 owia ffd § vee; sitg #1 ar-ar gaa iR
TIE; S 1 TEA/ T, e Ve 3 witq G611 AE Forh Ho e 81w § 2
(1) FaRFEH foHn (2) gfe gt T
(3) T91 & HHH HI T (4) T fahr
12. Assertion (A) :
There is no objectively definable moment when a child enters middle childhood or adolescence.
Reason (R) : |
Development is continuous in nature.
Choose the correct option. ]
(1) Both (A) and (R) are false.
(2) Both (A) and (R) are true and (R) is the correct explanation of (A).
(3) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(4)  (A) is true but (R) is false.
A (A) -
a7 F TevA fafa & A€ el S HE A WA A A1 e § e w5 ¥
FHITT (R) :
fererr, wepfa i Forter e e €
et faweq 4 | J
(1) u!ue&‘mmE'“Fifﬂ'ﬁ?'%_'--r __ _
@ () ot ) 2w € 3 (4) (0 T S e
() (A)sir (R) i wd § e (A) 1 (R) WEl =0 =7l o &
(4) (A) =@ %W(R)W,F'
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13. Assertion (A) : '
- .. own stereotypes and bias.
Teachers should constantly reflect on their OW | Vpes ¢
antly |

Reason (R) : | |
ns that teachers are reflective.
e 5

Culturally responsive teaching me¢
Choose the correct option :

(1) Both (A) and (R) are false. :
(2)  Both (A) and (R) are true and (R) is the correct explanation of (A).

(3)  Both (A) and (R) are true but (R)
(4)  (A) is true but (R) is false.
e (A)

Forareri =1 firia 1oy =l % wfgarfan siR garmel T =G e =nfen
T (R) :

ST w0 & Swerd fow w1 o § F foes feioeiter 21

wEl fawew 99 |

(1) (A) 3R (R) Zri 7@ 2

is not the correct explanation of (A).

(2)  (A) 3T (R) i e ¥ 317 (A) 1 (R) 51 =@ Fean 2
() (A) 3 (R) T w1 ¥ A (A) 71 (R) 581 = 76 w0 3
(4)  (A) ¥ & <% (R) 7Terd 2

14. According to V ygotsky, what is the role of the te

(1) To give only those tasks that the student ¢
(2) To provide

acher in facilitating cognitive development ?

» | an currently do independently.
information and k“““'!edg e to the student
(3) To guide and support the studeny’

(4) To allow the student to Je

. _ . sendently.
TAMCRT & STEN, HAATHF g A
A T3 3 fy
S . &7 <hl 1 VAR © 7
(1) mﬁmmwmﬁmﬁ” - i .
BUERS i T e
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15.

16.

17.

U TR TR TR

A middle schoal teacher wangs tq enable
between concepts nn‘d real-worly
“[-.prnpriﬂtt‘ pedagogical H‘rﬂtug}r ?
(1) Let the students rese

class.

meaningful learning by helping students make connections
applications. Which of the following activities would be an

arch on a current jssuce in small groups and present their findings to the

§ | 5 ¥ "" % - . . .
(2) Letthe tudents memorize terms and definitions.

(3) Let the students l'ﬂl'l"lplﬂlu “'“rk»"ihl!l‘l'-i with IT'IU"iph-‘ choice lluﬂﬁﬁﬂﬂﬁ.
(4) lLet the students learn by the method of stimulus-response conditioning.

o WA T FOAE B W waesii st amatads gFEAE ST & A wE A T R
eler T 1 AT T e 8| Fysfifg 4 @ @ 1@ afafafi v v daforer wrEifT @ 2
1y~ Tl T OR TR b g v g gy & i o FrE w0 g

@) o st ufarnd aw e ) ”

3) meiﬁﬂagfawmmmmqﬂwfﬁiﬁih

(4) Ferenfefall 1 SR - wffien sty =t fafi g @A 1 FE |

rom the experience of interacting with

According to Lev-Vygotsky children benefit f
while working their zone of proximal development.

(1) the physical environment; just outside
(2) more knowledgeable others; within
(3) more knowledgeable others; just outside
sical environment; within ) )
g—m:;g:jwﬁ S e s 3 SFVE A I 2 € S S FE
s 3 =5 TEgTE fawE & A E 4
(1) i SaE; 99 9l
@y vy FEER 74, AL
@) fuE FEER T, TH 4Tl
(_i} sffa FramE; A

condition which impacts learner’s ability to

Dyslexia is a
(1) sensory,
(2) emotional, draw pictures .
(3) neurological, link sounds with symbols

(4) ph}'siﬂlugical, socialize with peers

U A/ femfama &  feafa % <t faened F &9 i Gifad HLl © |
(1) ﬁéﬁ,mﬁrﬁmwﬁ:faﬁﬁfé?w
(2) wrEATHs, faa 9

coordinate body movements

() =, wﬁﬁhﬂmﬁ%ﬁwﬂ@

(4) i, afe & E EEn
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18. Which of the fﬂllg‘W*Mg characterise the Pr{}CESS of socialization ?

19,

(@) Itis a linear process. (b) It is a complex process.

It takes place uniquely in different cultures.

3 ®© @ ® O

() Itis a multidimensional process. (d)
(1) @, )@ @ @ @b
Frefefas § | % o gurfeo 51 vien =1 faba] €2

(a) 9T & W@E wimm 2 (b) 7 TF wifed Wimar e |
() I UF =Fgarandt ufwma 2 (d) Wﬁrﬁmﬁﬁmmﬂﬁ%i
D @ 0.0 @ 2 @) (3) () () @) (®).© @

Assertion (A) :

In an inclusive classroom, adaptations should be made in learning goals, pedagogical strategies as
well as assessment,

Reason (R) :

The philosophy of inclusion advocates elimination of all individual differences through pedagogical
approaches and assessment.

Choose the correct option :

(1) Both (A) and (R) are false.
(2) Both (A) and (R) are true and (R) is the correct explanation of (A).
(3) Both (A) and (R) are true but (R) is not the correct explanation of (A).

(4) (A) is true but (R) is false.

fusha= (A) :
U AEEE w1 H, Hraa & e, el Eifadl  @g-|g Seher § Sger R S e |

U7 (R) :

a1 <A SaforE gfes R geiEs F wrom g |t safamma gavel F1 99w w5 w5 awed
FE T

Wi faweq T4 |

(1)  (A) 31T (R) Zrl 7T €

(2) (A) 3T (R) ST WE E 3 (A) F (R) TEl =mem wea )

(3)  (A) 3 (R) 2 TE  AFF (A) F(R) 7 = 7@ ww@ 2
(4) (A) F@ & S (R) Te@ &)
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() Incorporation of diverse PEISpectiv
es

(3) Following reasonable ACCOmmodat;
on

(4) Offering differentiateq instruction

ﬁﬁﬁf@ﬁﬁﬁﬂ?wmﬁmmmqﬂ%?
(1) wieerdt THEE B S g

2y fafay gfel =1 vy

(3) A T H e

yy favfea frdw &

71. Assertion (A) :

The less able a child is to do a task the more directions the teachers should give and as the child can
do more and more the teacher should help less and less.

Reason (R) :

Intelligence cannot be accurately measured by calculating Q.

Choose the correct option.

(1) Both (A) and (R) are false.

(2) Both (A) and (R) are true and (R) is the correct explanation of (A).

(3) Both (A) and (R) are true but (R) is not the correct explanation of (A).

(4) (A) is true but (R) is false.
Afuawad (A) :

U T frdl i F
-3 g=n Afus 49

I (R) :
% H gfg-afer S T
wel famey 91 |

() (A)#R(R)ﬁnaﬁ%l “
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22.

: ! : ple paying attention
A teacher notices that one of her students i highly q;stractﬂﬂu .and hatS ) trn?njhel%iﬂg the student
during class. Which of the following strategies would is an effective strategy
stay focused ?

Pl : - ,» student.
(1) Calling the parents and taking strict disciplinary action against the stu

(2)  Giving the student repeated tasks to do during class.

(3)  Strictly telling the student to increase their attention span.

(4)  Giving a timer to student for self-regulation and time-management. o e i e
U T 3 =ifem o fir s o o3 mﬁﬁﬁﬁﬁﬁﬁﬁwmmq;mmﬁqj{mm
¥1 Freffan & 9 2 o wrifa o A i T T e % o T T T e

(1)  wren-fae =) qemet o & faers wea SEaEeTE wrar H |

(2" O W wean F S an-an & ¥ feu e

(3) BR T wE B a9 s safy wge & o wee
(4) E-FF9a siv gyg-wEvE & foo o o1 2 S

Assertion (A) :

Learning from real-life problems and concrete experiences gives the children multiple pathways
for learning and retrieving information.

Reason (R) :

Development is relatively orderly and sequential,

Choose the correct option :

(1) Both (A) and (R) are false.

(2) Both (A) and (R) are true and (R) is the correct explanation of (A).
(3) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(4) (A) is true but (R) is false.

TR (A) -

aTeataE SEA 1 FEEnE $ gd gvEl # dhas | o= i SR SR 9E 3 F fa 1
foerd €|

T (R) ¢

FarTa 3TaATFG SAAfea S TR €I

w@ faswed 7|

(1) (A) 3T (R) 21 TTeTd €

(2) (A) m(lt)ﬁﬁnﬁﬁaintﬂ)aﬁtﬂmﬁmmm%

' (A)W(R)ﬁ“ﬁ%ﬁﬁﬁ(ﬁlﬁlﬂ)ﬁﬁwqﬁm%l
(4) (A)uﬁ%ﬁmm)w%l
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24.

25.

26.

Work IN progress Pnrl:fulins are

. an effective tool for formative assessment because :
(a) They involve stude

. At in the process of assessment.
(b) They offer Insights about the progress of individual students.
() They focus mainly in the Presentation of the final product.
(d) They offer tangible evidence of student learning.

m @O Q) b e @« 4) (@) (@) ()
T AR & T T 3 sy ) gy Srdferd e o e & it -

(@) & TEAH TR D 2 i e 3

) & ST T 5 sty e R

() 3T T W A IR F wgf w v e F@ €

d) & o ST F I T w3

(1) (a), (b), (d) (2)  (b), () (3) (a) (d) @ () (b) ()

Which of the following is a core principle of constructivist learning theory ?

(1) Learning is primarily a passive process that involves receiving and memorizing information.
(2) Teachers should provide direct instruction and explicit guidance to students.

(3) Learning occurs when students receive correct answers and feedback from teachers.

(4) Students construct their own knowledge through active engagement with their environment.
frefafaa 3 | F17 91 Sr=aEe v fagih w ga faga 272

(1) ST g1 w9 A uF fAfee whEm & fo g=m wE e 3R 4R @ mied ©

2) Tl & o & vy e ﬁnmﬁﬁeﬂ?mmm:

(3) S 7@ T € @ o @ e A A I i fagfe fred

{4y T T A Ee A Hew W A a9 9w e 5

LY

The central argument of Carol Gilligan’s critique of Kohlberg’s theory of moral development is
around :

(1) Educational implications of the study for school going children.

(2) Ethics of care and the feminist perspective.

(3) Overestimation of children’s moral abilities.

(4) Use of experimental design in studying children.

T & s faar & fagia #1 S e F1 e F FEE 76 ¢
(1) %mﬁaﬁaﬂ%fﬁ‘lm#mﬁﬁmﬁl

Q) T i S S AE e

13y il 7 S s F E SAFA

(4) il & sy H WA Y T ST

ST TR TRTITTE T P
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30.

p-11 (AU R A =

{3) wEd e vfta ¢y

. " E
. 1 1 , . Inlrﬂ"&tl'd in win IIIB h
:?li“m pﬁrt“:ipdll‘ﬂ "ﬂ}"l‘l'h' t“ lh“ dnm*‘! ﬂ\ﬂ‘l‘l‘t‘lltm l‘n]}‘ h‘ JUs “I““. 1S
St prize of Cash Sl;ln‘ll’; 1s
(1) Fﬂilun‘-m‘nidinp leamer () Intrinsically motivated
3 . , ! - . »
) rﬁ““"““"“?‘ Motivated (4) Mastery-Orienti'd learnet

! . (] i ’ : ‘ﬁ Tfa A -
#1 T LR R ———UE R R LR LR QR H T
al - S

(1) Sawsm vften femn 2, () wiafew w @ B

(4) v e feand 2

Which of the followis

| W, process s essential in mmnin}:-mahnﬂ of the information received frorn
CAVIronmMment and

store it further in memory ?

1) Retrieval (2)  Attention (3)  Decay (4) Forgetting

f_‘mﬁ:}mﬁﬁimwﬁmmﬂ#m fratm b 7@ wfa & s HOEA w3 F fa
o] CME 3 ?

(1) =iy

In whi . 4 '
131: ?u‘h stage of hnhlh‘rg s moral dm'rlnpnwnt do children’s

-l.] Dn\i i & " J o

mmmnmmwmmqmyﬂ‘m
(4) famm S O

An elementary school teacher
4 | raanstrongly 1 :
by gly influence stude

nts d“"ﬂ'lﬂpment of academic Sel[-comept
(1) Keeping very low expectations from «

(2) Keeping very low expectations from
(3)  Punishing autonomy and initiatjye

pecial students
all students

_ in students
(4) Rewarding autonomy and initiative | )

N Studentg
mwﬂfwﬁﬂmﬂmmm:ﬂiﬂlmmw - 4
(1) ﬁmmua@mwm ® _-.' 'ﬁmﬁ'ﬂmhammt
(2)” n\ﬁﬁuﬁwnmmmmm P

(4) Gﬁfﬂmmmfmmm

12 "
P
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C didates have to do questions 31 tu’;;P?RrANT / W
,l‘:lrf - 1 (Social Studies / Social §¢; EITHER from Part - 1l (Mathematics and Science) OR from

_ elce),
Wﬁf;}::;?ai 7 90 !?rai‘um-n(mﬁﬁmq)mm-m ( arnfares reqa / @At
kAt L

" PART - 11 / 9T - I
ATHEMATICS AND scIENCE / T 3 fasm=

pirection : Answer the following questions by cfp,

o : ﬁﬁr%lfwwe)ramé#érmw

31. The number of vertices (V), edpes ()
Then, the value of (3v-12) js .

‘ting the correct/most appropriate options.
Wag Fuga faweq AT

and faces (F) of a polyhedron are respectively 10, 15 and x.

(1) 18 (2) 7 3) 9 (4) 14

ferefl agwersl & ¥l (V), famm (i) si s (F) 1 Tz A 10,15 31 x &1 79 (3x—12) 1 5
2

(1) 18 (2) 7 3) 9 (4) 14

32. One of the factors of pix+p?(x—y)—ply+z)—=z is:
(1) p:.r-’:-py—-: (2) px-py+z (3) px+py+z (4) px-py-—z
pr+pix—y)—-ply+2)—z F THES H A TF TAES ©
(1) pix+py-z (2) pXx—py+z (3) px+py+z (4) px—py-z

33. Ifa8-digitnumber9471x9y21s divisible by 72, then which of the following statements is not
true ?

(1) x=3 ﬂnd y=1 (2) =8 and y=5 (?’) r=4 and y=9 (-l) =9 and y=5
Az g - wET HEN947129y2 2 ATAFE, @ = | FE o 9 @ €2
(1) x=33My=1 (2) y=8 3My=5 (3) x=4 IMy=9 ) x=9 AN y=5

——_———-—-———-—

SPACE FOR ROUGH WORK / T @i & feT S1TTe

13 o
P-IU (NIt e
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.« piving a discount of 28% on its marked price, The
7324 S,.f:;rglcle by gwmg 18% discount on its same markey

€ty
Pige

34. A shnpkueper sells an article for
price of the article is ¥ 300. If he sells
then what will be his profit purcent __

| (3) 19% (4) 23%

(1) 24% (2) 10%

- : uﬁqzéaﬂz124wm%l T HF oy g
. sifad q7 28°%
?mﬁ%ﬁmmwiim ﬁq@miﬂ" mg\zméﬁ < S I SR Ry

(1) 24% (2) 10% (3) 19% 13) 2@
35. Concept was labelled as ‘Schema’ by :
(1)  Van Hieles (2)  Vygotsky (3) Piagel (4) Bruner

ZAM ST F e % w9 H i TR T e

(1) 383 (2) aTETeEE] (3) foram (4) TR

36. In triangle PQR, £P=55° and QR=18 cm. In which of the following cases, APQR can be ar
obtuse scalene triangle ?

(I) ZR=35%and PR=18 cm (2) 4R=25° and PQ=18 cm

(3) ZR=15"and PR > 18 ¢m (4) ZR=65° and PQ > 18 cm

%S PQR W, 2P =55° 310 QR =18 ¢y 2 Y .
AT &2 omE | T feafedi 8 & fermi APQR U siferan i fererarg o

(1) £R=35° 3’ PR=18 cm i

(3) 4R=15° 3 PR > 18 cm

- H)  2R=65° sim
A — o — - ) PQ > 18 cm
SPACE FOR ROUGH o
HWORK /ol s oo
& & fou g

p-1r (RUIE RELHRETT
14 ~ &
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37. f& :c.ludunt was given the fnlluwing problem on percentage to solve,
Find the percentage of decrease if

She wrote the following sinlion the population of a city decreased from 28,000 to 26,500.”
Original population = 28,000; New population = 26,500
26,500
28,000

% decrease = X 100% = 94.6%

Which of the f“““""mg 1S most appropriate with respect to the response of the student ?

(1) Student has made a careless mistake.

(2) Student is able to understand the concept of percentage but is not able to understand
percentage of which quantity is to be found.

(3) Student has solved the question correctly but has used wrong symbols in solution.

(4) Student does not know the concept of percentage.

w famndt =1 wiqwmm w f=fatas aven e 5@ 51 9 T,

" IR TF IR F TAEESA 28,000 F TEH 26,500 W TE & A SAHSA F T I Wwaan 9 wioe |

394 Ffataa @ o,

TRIWE FHH@A = 28,000; 75 STEET = 26,500

. 26,500

HIA &l % T 28,000

famndl & S & gev § frafafaa § 9 o qad suga €2

(1) feendi 3 samEaEeEY & 3260 F1 2

(2) faenedi Wi 1 srauron 71 G929 GeH & I 98 9% wee T 4 wed T € o T i
yfqerad 3d &

(3) faendi % wom 71 =@ 90 A wa fown € foeg 9E S e el 8 wwEm {0

(4) Terenedi wfqumaan =61 sr@ymon F1 & =@ |

X 100% = 94.6%

38. The lengths of the parallel sides of a trapezium are 11 cm and 25 cm and the distance between
them is 12 cm. Its area is equal to the area of a rectangle whose sides are in the ratio 3 : 2. What is
the perimeter (in cm) of the rectangle ?

(1) 70 (2) 40 (3) 50 (4) 60 ‘

Mwaﬁ?{ﬂ?ﬁlmmﬂfmﬁlﬁcmﬁaﬁ?dd%cﬁﬂmﬁlgﬂucm'ﬂlWW'SH

mﬁzﬁﬂwiﬁm%fmﬁgmﬁ"azziﬁa@mﬁ%"aazﬂmﬁwwfmm(cmﬁ)m%?

(1) 70 (2) 40 () 50 4) 60
SPACE FOR ROUGH WORK / 1% &4 & feq smg
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39,

40,

41,

——

. lu
g _24. What is the va
X varies inversely as y. When x=35, then ¥ 3) 1.5 (j)_ 2 aayaﬁlmw'éﬂn}
(1) a;Z.B (2) 1.4 (-g qAy=247TI _‘ﬂarﬂaéﬂrl
T Y T SR e e g1 9 =00 @ i (4) =
(1) 28 2) 1.4 ) -

D L
bers is —— » then the reciprocy)
--40 _If one of the two numbers 15 2

of the other number lies between 1 1 d 1
1 1 3 9 2 and = @ 574
) 7 and 3 (2) g and 55 50 °

S 3, 9 9 sl (4) L
(1) 4?5“'{3' (2) — 3N — (3) 3o 5 5 4

National Education Policy (NEP) 2020 recommends that Sports Integrated Pedagogy needs to bhe

used in classroom teaching. Which among the following are correct in the context of using sports
Integrated pedagogy in mathematics classroom ?

(a) Teaching-learning process shall become joyful.
(b)  Itis not possible to use sports for teaching mathematics.

(€) It will be time consuming and hence needs to be avoided.

(d) Apart from popular sports, there are many
mathematics.

Choose the correct option :
(1) (). (c)and (d) (2) (a)and (c) (3)  (b) and (c) (4
e faen =ifa, 2020 fawfo w4 3 fx am U faememe 5 3 lgqqm‘(n) el
. : o y A B wE g i (GroeT
mmﬁﬁwmmnnnﬁmzﬁmﬁm 58 i 2 Eﬁﬁﬂ'ﬂh‘l 4
(a) ﬁlmhmﬁnmmalﬁmmﬁmﬁ, PR ®?
(b) W 3T T W e g ¢
(c) mﬁaﬁﬁﬁﬂﬁéﬁm?ﬁ’sﬁmm.
<l P 9 - YA W 3 fap T
(1) ), (©3MW) () (a3 (q

indigenous sports which can be used in teaching

pr (BU I R ATE

16

D

(3 Scanned with OKEN Scanner



814737172

§2. BD is the _czmgnnal of Pﬂraﬂelugram ABCD such that ZCBD=12x, ZABD =7y, ZADB=60° and
£CDB=28° Then, the value of 2x+3y is ;

(1) 23° (2) 20° (3) 21° (4) 22°

vl FHA SGUS ABCD %1 faevl BD =g wam & 6 ZCBD =12, ZABD =7y, ZADB=60° 3K
/CDB=28" %1 &9 2x+3y & W & .

1y 23 (2) 20° 3) 21° (4) 22°

43. Which of the fullnwing is not a dimension of assessment of mathematics learning, ?

(1) Mathematical reasoning
(2) Communication
(3) Patterns and procedures

(4) Disposition towards mathematics
frefafaa 5 | FE-T T fims & stees &1 3aW @ € 2
(1) IO &6

(2) HEGY

(3) Wi (T2) iR wiwan (Fri-fafy)

(4) Tifora & wfa &=

4. If x=1.011+10.11-12.101 +0.1011, then what should be added to x to get the sum as 1.1 ?
(1) 1.1311 (2) 1.9789 (3) 0.3111 (4) 0.2211

e v=1011+10.11 —12.101 +0.1011 &, T x H =1 Sirer s, 5@ drmeat 1.1 Wa 21 2

(1) 11311 (2) 1.9789 () 03111 & T
~ SPACE FOR ROUGH WORK /1% & & foiu smmg = —

i
ol IR T 17 o
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! ass.
following question to her cl

ses the .
F;,shuw the following data 7 )

Jetics meel
15 from 9:00

45, .
f“?i'ﬂ‘l:!dle school mathematics teacher
lich type of graph would vou use
(ﬂ) T'hﬂ hf‘iﬂhlﬁ of Pﬂrlifipﬂ;ﬂﬁ in an ﬂth :
(b)  The number of passengers boarding trait

The intent
10n of the teacher is to - :
(1) Teach the use of histograms for data representation.  and line graph.

r a
(E) Help learners understand the difference between bar grap
(3) Introduce the concept of pie charts.

(4)  Teach line i - tual situations.

graph through contextudl = ¥
ﬁaaqa@nﬁmﬁww%aﬁmaqwﬁmﬁfmww@?
“ﬁqﬁmmﬁw%mmmmﬁmmﬂm -
(a) ToHl Aege wiadifar # wfqwnfral & e ) o3 dEm)”
(b) wﬁmmm:gmaﬁﬁwﬁmaﬁﬁmﬁaﬁm

(1)  =ifFei & fregw ¥ fou spatas & swm & e el
(2) =ve-IerE 3 Y- e 3 A o sta F1 guer A fa
(3) YE-TR = HGYUI &l 9i=Ed Al

(4) TE-=eE w Heviars wftfred gan e T |

46. Teacher conducted an oral assessment in class and found that Ram can sp_e
types of numbers - odd, even, prime and composite accurately, but not able to ide

accurately when given a set of numbers.

Which of the following is most appropriate for the above situation ?
(1) Ram has analytical ability.

(2) Ram has good memory but lacks practice.

(3) Ram has good memory but lacks concentration.

(4) Ram has good memory but lacks conceptual understanding,.

foreres 3 @el | HITEE A5dd &1 A a1 faod 92 v =0 & uw faum, 99, s1aes oiR s 59

guft war @ weEns F1 Add =9 8 v F@ wwa € e s\ gensii w1 aysra fem o @@ ®

sl F1 Hel w9 QA TEEE A6 9

sirea ufifrefa & fom freafafaa 5 3 @6 m sfa-39gem 22

(1) Imﬁfamq?ﬁm%l

(2) T @1 B Ve S R W AT e

(3) mmﬁwmﬁaﬁ%mmﬁﬁ%.

(4) T\ 1 T AfEE =1 © WA FAIEF 91 5 e E
—  SPACEFOR ROUGH WORK/ T T4 % forg s

e

ak definition of all
ntify the numbers

prr (0 ALL iy 18
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47. The area of the curved surface of 3 right circular cylinder is 4400 cm? and the circumference of its

base is 110 em. Its volume (in m?) is ; LUSH 1,-:-2)
B

o

(1) 0.0382 (2)  0.0284 .2 (3) 0.0385 (4) 0.0285

el 9 1 e g Wjﬁ%m:ﬁ%ﬁhmﬁqwmaﬁwﬁfa 110 cm &1 9 &
W(m”ﬁ)% : ( = _Ey_zmmﬁﬁrr&)ﬁ
-~ |
(1) 0.0382 (2) 0.0284 ! (3) 0.0385 (4) 0.0285
N

48. The difference between two supplementary angles is 20°. If the smaller of these angles is p, then
the value of 3p =507 is :

(1) 190° (2) 310° (3) 270° 4) 250°

< WY HIVI S 20° €1 A T A o Fm p ¥, W3p-50" AR E :

l‘-|- —-_-'- " 3

(1) 190° (2) 310° % (3) 270° (4) 250°
h,h_1
. =1\ o\ ( '_ x  y)!
49. If X _ (._) - (_) , then what is the value of [— + '—_J ?
y 3 3 "~ y X
48 3 T-__ 19 38
-3 a4 . o x oy -1
?TR:’E=(:_1) +[:) 3.?11[-+=—J FHAFE?
y 3 3 y X
48 3 s 19 38
"% B T O g B 7
o ~ SPACE FOR ROUGH WORK /& &t & fofg smg
-]
()
L !
i |
N
S TR TR TN - P
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50.

If f\==' 202412y, B=11 - 8x+3x%, €= _17~4x* and D=
Co~efficients of 22 and x in (A+B+C” D) ? , (4) 1 .
(1) 3 @ 0o ) 3 - ) __3=ga‘1(A+B+C'D)q X= 3,
TR A= —2p2 “".” 17427 A D=2
%;‘I“Tl"cﬁ 22+ 12y, B=11 - Eh‘+3.1
A E I'“-—,-.. | (4) 1
1) 3 @ 0t (3 1
5 <~ Numbers. Which one/ones is/are correct ?
1. A student listed the following proporties of Rational Nu
(@) A rational number includes integers.
(b) 0O (zero) is not a rational number.
(€)  All fractions are rational numbers.
Choose the correct option : ‘ Iv (c
(1) @) and () | @ @ad@ @ Oy ® (1) p? :r;r ;;f“' ?
G foeefl % i wrwnsi 3 Frefetan o # g0 T A B
(@) U i wen § qis wfefee
(b) = () T Fen
(c) =i fir=t uft ded v %':} ﬁ
| fawea 14 - < . ‘
(1) (@) 3" (b) @ @@ @ FAEO (4) =99 (0)
LA
52. In triangles ABC and DEF: #B=90°, BC=8 cm, ZA=40°, DE =8 cm, ZF=40° and ZE=90°. Then,
which of the following statements is true ?
(1) AABC = AFED, by AAS (2) AABC = ADEF, by RHS
(3) AABC = AFED, by RHS (4) AABC = ADFE, by AAS
Favii ABC @i DEF #; £B=90°, BC=8 cm, ZA=40°, DE=8 cm, £ZF=40" 3R ZE=90° €| T4, =
i R FA- M EFEAE? (]
(1) AABC = AFED, AASZR ™~ (2) AABC = ADEF, RHS 3T
(3) AABC = AFED, RHS 3T _L ~. (4) AABC = ADFE, AAS gm
—_ SPACEFORROUGH WORK /& & & fem wme
O
or [ ant 20 :
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Mathematics 1S a way of u‘i"kinp
]

53. since ;

a) It provides an opportunity ‘
(a) Pp ty for students to engage in proofs and examining patterns.

Students reproduce fo
) - : rmulye 7 : :
(b lae and symbols during problem solving,

2 Students use appronri
L rl. Y Sl H 2 :
() PPropriate s alegies for solving various new problems,

Choose the correct option :

(1) Only (b) (2)  (a) and (b) (3)  (b) and (c) (4) (a) and ()
Tiford T HEA AR & Fif

(a) T TETTEEA 0 TR e Wi 3 ffeg 4f ey (aiern) 7o 3 fer, v v e &

(b) T A W S fwnedf ape v firi a Ao §)

() fﬁm‘ﬁﬁfﬂﬂ?ﬁmﬁmmmaﬂﬁﬁ:fmmqﬁmﬁaﬂwmﬁl
wd fos 1 991 wifsu

(1) Fa9 (b) (2) () 3R (b) (3)  (b) 3 (¢) (4) (a) 37 ()

54. Three numbers are in the ratio 2: 3 : 4 and the sum of their cubes is 33957. What is the sum of the
three numbers ?

(1) 81 (2) 54 (3) 63 4) 72
T FeTE 2:3: 4 & 319§ § R I i @ AW 33957 ¥ 139 9 g w1 dm 2
(1) 81 (2) 54 (3) 63 4) 72

55. Three consecutive integers are such that when they are taken in increasing order and multiplied
bv 3, 5 and 2, respectively, they add up to 99. What is the sum of the original first and third

integers ?

(1) 24 (2) 16 (3) 18 (4)
@ AT YU 35 WEA § fF 94 3% 9ed gU HA 4 fod | € 3w 3,599 2 F on Few S
T S, W AT 99 W idl &1 ARfYE eel a1 dE quiien &1 4 3491 7 2

(1) 24 (2) 16 (3) 18 (4) 20

SPACE FOR ROUGH WORK / 1% T & [eTT WTg

19

0

S TR TTR T - &
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56,

58.

The I'nlluwing table

shows the number of

T}-FU of \ T Pome-
fr'u il la NELes App] s | Oran £es uavas gra nates
Number 44 56 o 20 18

' a ple o . T of the sector represent
- lpm chart is constructed for the above data, what will be the angle g
Apples ? | )
(1) li‘t}.an {:!.} Tl] a0 (:-‘) 72ﬂ # (4) 96
RO farel Fsd 3 10y fafre el A HAs w i e

RIS T
| wwn o #a W | apEm | AT

T 4 56 12 10 18

RIS L £ 0 T e —r p—r ——— et L 1 A e R e Rz et

(1)

100.8°

(2)

79.2°

(3)

96°

e

(4)

A box opened at the top is made of wood of thickness 3 cm. Its external length, breadth and height

are respectively 1.48 m, 1.16 m and 83 cm (base =len ' 1
. opectvely , 1. i k ase = length x breadth). What will be the cost
pamung its inner surface at T 150 per m? ? .

(1)

If the median of the data 30, 8,7, 3,
by replacing 3 by 33 and 8 by 18

y and x
(1) 4

afe Aiwgl 30, 8,7, 3,17, 15,21, 24, 29 73
AfTEAITTE 37 T w2l w1 o h

(1) 4

T 842,50
FEUE GO G UF A9 3 ocm WA AFE F oA 21 WA A
148 m, 1.16 m 3R 83 cm ¥ (37m = wfamé x <ir2rd) | zo Al Hasl W

T 842.50

?

(2)

(2)

(2) 1

(2) 1

T 838.20

< 838.20

>PACE FOR ROUGH WoRK /7 g & fo

pxr (NG

(3)

(3)

17,15, 21, 24, 29, 23 is Xa
In the above data is v,

T 839.10 (4) T 841.40

@913, A1gE a9l 9 Fum
T30 A m2 R ]

< 839.10

(4) T 841.40

nd the median of the data obtained
then what is the difference between

©) 2 (4) 3
m w 1- % w"{ E . = L
. G ST | 371 33 7 Y 18

3) 2

(4) 3

_-'-'-—-—-____-—--_

SR

22
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e : .
respectively. What is the l:r’n:i{:m started together. Their steps measure 70 cm, 85 cm and 95 em

distance in complete steps ?” mum distance each should walk so that all can cover the same

(1) Concept of proportion
(2) Concept of HCF

(3) Concept of LCM
(4) Concept of division

m\’lﬁﬁ!%ﬂﬁmﬁﬁﬁwﬁmﬁﬁw&ﬁi%maﬁﬁﬁmmwu
--T;ﬁﬁa[aﬁ?ﬂiqmm@‘qa;mﬂmmﬁmﬁﬁl ﬁmﬁﬁmﬁm 70 |.41.,
85 |.1. ..g%-q;ﬁ'%l $TH 9§ Yo =an fret 9 9 6 9 98 90 - e § 7 R Eh 2"
ﬁmﬁf@an@a—ﬁiwmwmﬁmm%mwﬁ?

(1) THEIIE S SFFHRON

(2) WEUH FEYEds (WH.) T sgumon

(3) TN WAEEE (FH.) F SgyRon

(4) fawrs= =t sEymon

60. Which among the following Learning-Teaching Resources (LTRs) are most appropriate for visually
challenged students in mathematics classroom ?

(a) Geogebra (b) Taylor's abacus (c) Computer (d) Spreadsheet
Choose the correct option :

(1) (b), (c)and (d) (2) (a) and (b) (3) (c) and (d) (4)  (b) and (c)
TIUTd 1 e | gfeantud faenfdal % feu frafafaa sirm faao doeE (o@ 3 am) § 4 399 o=
399 B ?
(a) fodrmEm (b) e F fram (c) &I (d) Trsvie
Hel faweq 94 ¢
(1) (b), (3R (d) (2 (a)3 () (3) () ¥R (d) (4)  (b) 3 (c)
S SPACE FOR ROUGH WORK / Th &1 & folt -g

R\ TSRy - P
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61.

62.

63.

p-11

d by bacteria ?

— = | o
fﬂllnwing plant diseasc(s) are cause vein mosaic of bhindi

(@) Rust of whe: Citrus tanker (c) Yellow L

0 Ony g heat 2 o anglh)(b) @) Only (l-,) (@) (b) and ()
Fafefam & & 2 & wew am (onfy/ o) FAVTOERE? e
(@) TR H () (b))  fERE IR © ME® A ()
(1) &34 () (2) (a) 3 (b) (3) i (b) @ ©

Identify the correct statemen .
) statement(s) : _
» £ 1 .
(@) : A factis an observation that has relwentedl}' been found to be true over the time

(b) : A law is a theory that has repeatedly been found to be true over the time. o o
(1) Neither (a) nor (b) (2) Only (a) (3) (a) and (b) (4) y (b)

T& S/ FU F GEEH FAT

(a) : %A UF aeirEa # a8 godeh arEn 9 9@ T e

(b) : 70 U= fagia & fod SednR aran 98 9@ 749 €|

(1) (a) 31 (b) § =1¢ it 7@ (2) wad (a) (3) (a) 3 (b) (4) Had (b)

Find the set that correctly matches the plants in column A with the mode of asexual reproduction
which they exhibit :

Column A Column B
(a) Rose (1) Budding
(b) Yeast (1) Spore formation
(c) Ferns (1ii) Fragmentation
(d) Spirogyra (iv) Pollination

(v) Vegetative propagation
(1) @)-(iv), (b)), ©)-G) (@-G) () @-(v), b)-(), (©)-Gi), (d)-(iii)
3)  (@)-(iv), (0)-(3), ()-(v). (d)-(iii) (4)  (@)-(v). (b)-(iii), (c)-(ii), (d)-(i)

g gy=E F U SF Fem A H R w1 g e AATE 7 F1 fafy F @y wH vHR A
Hie A€ :

HIAH A HicTH B
(a) T B 3
(b) A= (@HI) (i) SIS =
© w5 (qui) (i) @A
(d) .F:ITS-{-“FTE“ (iv) 99

(v) TFiaF gay

a) (a)-(iv)- (b)-(iii), ()-(1), (d)-(ii) (2)  (a)-(v), (B)-(i), (c)-(ii), (d)-(iii)

Gy (@-), @ @) DG

it e 5

@)~(v), (b)-(iii), (€)-(ii), (d)-(i)

(¥ scanned with OKEN Scanner



64.

65.

66.

Which of the following woyld - _
at upper primary levfl A be a most suitable strategy to introduce the topic “deficiency diseases’

I ™

(1) Hold a discussion on common human diseases.

(2) Provide a definition of balance
(3) Arrange for
around it.

(4) List the

d diet and introduce the concept of deficiency.
a doctor’s prescrlphnn pertauung to a deficiency disease and hold a discussion

e .*-

various nutrients and the [un.-;unnq they perform in human body.

I MUHS TR s7vrae=y g’ ﬁwﬁwaﬂﬁﬁﬁﬂfﬁfﬁaﬁﬂamtﬂmmmmﬁ7
(1) W ATE HaYT I 1) st o

(2) HT AR B YR e e qen a7 F SN TG A
(3) SIS I § Hefuw el (fafwers) F WevA F1 SIE 39 W Uf=E S
(4) ¥E IR H fafim G oiw i fraeti @1 3 fomes =0 ¥ 98 gEs w5

il W
=

Which of the following is the most 'mttable strategy for introducing the students to the concept of
‘chemical reactions” at upper primary Ieu] (4

(1) Hold a discussion on chemical rem.tmnq which students are likely to have observed in their
lives 1

(2) Explain the concept of valence eléc'trnna and electronic configuration

(3) Wnrite the chemical equations in symbcl:c form and ask students to observe
(4) Define a chemical reaction and give examples

=1 WU T W T afuEn’ s emym § faafeddi @ ufifea s fa frefafea § 3
s 4t Afq I9gaa rHifa €2

(1) 39 TamfE afufFEnei w ofe=i & e famfdi 3 396 stem 0 d@wfad &9 9 sEeist 7

@
(2) HArSTRdl Toragia 3R Ferazie fa-aTd i STEURON i SARAT HT
(3) TEmEfE GHiE F wdEeE w9 4 faam qon faenidal w1 sEesd w1 F fag Fwe

(4) TEEfE sfufma i aRuie ST 8] 3T
A ball is thrown up in the air. It reacheés‘a maximum height and then returns to the thrower.

Which of the following quantities have the same values during the upward and downward motion
of the ball ? o

(1)  Work done by gravity (2) Accelgr;tinn (3) Force of gravity (4) Displacement

U e ) gy F SR F S e T | T AR SR TF TEA & AqIed e el % IR and
T |

ﬁaaﬁgqﬁg-@afnmﬁg@?wﬁl/w%m fefafad 9 g 9 @ vl 1 aaR AR 82

(1) wagmfEmm@sd (2) O (3) REwEd  (4) faEEA

S U NIRRT £ P
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( gravitation bein
57. Which of the following is the most suitable reason behind Newtons theory of &7 &
regarded as an excellent theory ?
(1) It hﬂﬁ b-L'El'l dEVE]Dped over a Igng penﬂd ﬂf ﬁmﬂ ‘
) T explains lar ger number of dbéervations by making fewer assumptons
(3) It has been arrived at after thorough experimentation
(4) Tt has been I'ﬂrmulated'using-ti;é-precise language of mathemalics i
;f"?"m'im%ﬁm 3 = 0 wFe fagia o 3 S Frefefad § @ SA @ FaiUs ST S
- (A
. n .
() 58 <riams smafs & fawfan fon T ¢
2 . -
(2) qgm‘mﬂﬂ.mmm;q\?mﬁwm%
() 38 0 0 vl 3 yvam & wd
(4) mqliﬂ-amwmmmwmw%
68.

Read the following text

‘,v wralively: -
hen g negatively charged rod is brought near an uncharged electroscope,

(@)  the clectroscope leaves move futther apart
(b)  both the electroscope leaves acg

quire similar charge
(¢)  the nepativ ﬂx )
¢ negatiy

e charges pass on to"the electroscope causing its leaves
Of the above three statements - "

(1) (a), (b) and (c) are inferences 1_

(2) () is an observation while (h):and (c)

to move further apart

are inferences
(3)  (a) and (b) are observations and (¢

(4) (@), (b) and (c) are observations

Fafafaa s =1 ufzu .
mwmﬁaﬁﬁmm(ﬁg)mﬁmﬁﬁmfﬂmﬁﬁﬁm
(a)  Terepeeil wiwal U et 4 s gz smih

(b) arl raﬂﬁa?il gfea g9[ HE #iq F

) 1S an inference

AT 1 g,

(1) () @) F@QFEAE (0
() (o) A & T (b) 3 () S &
(3) (a) 3 (b) FTENFA & 3 (c) ST &

4) (a), (b) 3 (c) ITAFA T ‘

P-11 (I R i 26

)
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A box 'uf bl o is. lying on a horizontal table. Which of the following statements is true
regarding the force(s) acting on it 2 [y =10 m/s?)

(1) An unbalanced force of 5 N acts on it in the upward direction
(2) No force acts on it

(3) An “_"h‘ﬂ“n‘:"d force of 5 N acts on it in downward direction
(4) A pair of balanced forces acts on it

dfest (3T) A (Ae) T Y qu U fza (afd) @1 2ermE (FHefa) 500 wm R 30 W A AT
ﬂﬁ/ﬂ%mﬂﬂﬁqﬁiﬁﬂﬁﬂﬁnﬂjmwﬂuﬂ?? [ﬂr'lnl‘ll/ﬁ:]

(1) WmﬁmmﬁNﬂﬂanﬁfﬂﬂ ael 0w T

(2) I8 R B TG HE T www

(3) g fawm {36 ws N W srrigfera we wel e @

(4) Fﬁhﬁﬁmﬁﬂm(?{ﬂmm*nwiwmﬁ

70. Which of the following is NOT indicative of the hypothesising skill 7
(1) Identifying variables for an experiment
(2) Formulating questions which lead to inquiry
(3) Attempting to explain observations or relationships in terms of some
(4) Using the senses to gather information

frefafaa o 9 F1 W iEeq T 8 & Five & s T8 ¢ 7

(1) T wam & fou =1 &1 ge=m w2

(2) WEEM T6 o 91 e ¥ FAH ‘

(3) Fo fagi & faua # sEeiEl swE Jad F SARA F FTAE S
(4) T TR w % o FefEEl e

principle

71. Seed dispersal may be said to help the plants in all of the following except :
(1) produce new varieties
(2) over crowding |
(3) avoid competition for sunlight, water and minerals

4) invade new habitats o o ) | )
%—mm%f‘mﬁmﬁrﬁaﬂﬁﬁmﬁﬁaﬁamvﬁqmmmﬂm%(mmﬁ)ﬁq‘m:
(1) = f@d @ FE &

(2) FAAFAA

72 X is a device which is used to see around corners and is based on the principle of _ Y
: is a

Xand Y IESPECHUEIY are : 7. Telescope, retlection

1}  Per e, dispersion (2) 25COPe, S—

ES; Kzziifiﬂﬂi CDPE,P ofraction ..(.4) ‘ ]’vn:-cnpe, reflec hﬂ{‘t '
— - 1 o gefTe S & o faan S € ST AR Y < fagid W snuiia ¥

ﬁm:ﬁjﬁ@;rﬂh (2) TERYE (TENERY), qUE
(1) , P ,

(3) agEgeYl, STaadd ?
L RN AT

27 P
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- n B.
73 \ i mes in colum
+ Match the substances in column A with their chemical na

(A) (B)
(a) Slaked lime (i) Calcium oxide
(b)  Table salt (i) Sodium bicarbonate
(¢) Limestone (iii) Calcium carbonate
(d)  Caustic soda (iv) Calcium h}'dnnilh-
()  Quick lime (v) Sodium hydroxide
() Baking soda (vi)  Sodium chloride

(1) (@)=(iv), (B)-=(v), (©)-(iit), ()=(ii), (©)-(1). ()-(v1)
(2)  (a)-(iv), (B)-(vi), (¢)-(iti), ()-(v), (e)-(i). (1)-(iD)
(3)  (@)-(vi), (W)-(ii), (©-(v), (d)-(0), (e)-(iii). (D-(iv)
(4) (@)@, (O)-(vi), (©)-(iii), (d)=(v), (©)=(ii). (N-(v)

asTeTm A fi 0 el o fers 1y 3 i g 3 A A 9 A P
(A) (B)

(@) g () femmm staEEs

(b) H= FH&H (i) wifeam AmEEAL

() A1 9 (i) Ffewam wwEfe

(d) ie<E |l (iv) Hfcam wegEns
(e) T gs (v) wifean wEgraEs
()  &fs =rer (@) (vi) Hifeqaq FENGES

(1) (a)-(iv), (b)-(v), (c)-(iii), (d)-(ii), (e)-(i), (F)-(vi)
(2)  (a)-(iv), (b)-(vi), (c)-(iii), (d)-(v), (e)-(i), (£)-(ii)
(3)  (a)-(vi), (b)-(ii), (€)-(v), (d)-(i). (e)-(iii). ()-(iv)
4)  (@)-(i), (b)-(vi), (c)-(iii), (d)-(v), (e)-(ii), ()-(iv)

74. The difference between maximum and minimum resistance that can be obtained by connecting
| 1 () his :
three resistances of 7 2% eachis:

s

2
(1) -}” G @3 3N 4 10

. . . 1 . -
syfurram F =an wfady & == H WWWEQ & T Wil =1 Sired ¥ gro W @) o g
g aeE:

1 2 8
1) 3% (2 o @) 39 @ 10

prr (RN 28 P

(% scanned with OKEN Scanner



75.

which of the fnlluwing gases are responsible for acid rain ?
(a) MNitrogen (b) Oxygen (c) Ozone

(d) Sulphur dioxide (€  Nitric oxide

(1) (d)and (e) (2)  (a) and (b) (3) (b)and (c) (4) (c) and (d)

(1) (d) ¥ (e (2)  (a) #7 (b) (3) (b) F(c) (4) (o) I (d)

Read the following statements carefully and select the correct option.
Assertion (A) : The stars in the night sky appear to move from east to west.
Reason (R) : The earth rotates from west to east.

(1) (A) and (R) are both incorrect.

(2) (A) and (R) are both correct and (R) is the correct explanation for (A).
(3) (A) and (R) are both correct but (R) is not the correct explanation for (A).
(4) (A) is correct but (R) 1s incorrect.

frefafaa wu & virgds: wfgu aa w8 fawes =1 =997 Fifa0 |
e (A) :  0fd s o af gd 7 gfvam & i Tfa w9 wda ad

&k (R): gt ufvan 1 yd fzen & 53 w7 2

(1) (A) 3 (R) <41 7r@rd T

(2)  (A) 3 (R) 1 |E T a9 (R), (A) F1 #E A E

(3)  (A) 37 (R) &1 T8 § W (R), (A) ¥ FE wmEm Tw@l T

() (A)Wé &y (R) TEE T

—

Identify the set of micronutrients (nutrients required by plants in small quantities) :

(1)  Zinc, Iron, Manganese (2) Potassium, Magnesium, Copper

(3) Copper, Phosphorous, Calcium (4) Sulphur, Aluminium, Chlorine

ﬁqﬁﬁmﬁﬁmmﬁ)qmﬁwﬁ%w(mmﬁﬁm:m Afaa TrE ) F e

FIfav ;
(1) fafa (srem), &g, FEW

(3) dfan, WOERE, Hicaad

(2) Wieiwam, frErivgm, dfe
(4) FEH, THEEEE, A

29

U ORI
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78. Read the fﬂ[I1uw.1.rrinﬂ-r p

79.

80.

prr 0 B =

; . aragraph carefully
In the given order.

Sound is produced by vibration and different mu=m<r a
a _J — the sound is produced by stretched strings: '? ‘ ound
vibrates and ina__Z the vihmfinf; part that Pr“duwﬁ s

X, Y and Z can respectively be :

(1) ektara, violin, piano (2)

ific vibrating parts. [,
_— .nts have specific
wsical IHEIHJH;LH | i; the stretched membrane thyy

is the air column.

sitar, harmonium, dholak
ar, tabla, shehnat

(3)  dholak, ektara, mouth org (4) guit - =
» CKlara, gan ) - PR
ﬁmaﬂﬁtﬂﬁ*mmﬁmwwmwﬁmwﬁﬁﬂﬁﬂﬁﬂﬁmm e
h-m-ﬁ | . - a ]
| ¥ x_ ¥ waf @fa 9w g

Al & g Sem Gt & qen fum-fum a4 & Al # - e ATl YA W, F1 %Y
TR, Y foreeh & o v et g Az AR I T |

(Flem) )

X, Y S Z F99: &1 5FA §

(1) Toam, amfee, fom (2) foam, ewifrm, g
(3) ek, THAM, WE-HA (4) fire, dact, YIeATs

A teacher, while teaching the chapter 'Bﬂd}' Movements’ to class VI students shows the fﬂuﬂng
images to her students : .

A sailing boat, swimming fish and a flying aeroplane. She then asks the students to reflect on the
shape of the images and the manner of movement. Which of the following are likely to be employed
by students in answering ?

(a) Classifying (b)  Observing (c) Inductive reasoning (d) Measuring

(1) @and@d) () @and®) () @and(© @) (c)and (d)

u fufars @qa wen vI % famnfdn &1 ‘wiin 9 wfa’ ue wen wwa frefafaa vfafaa feamd
£,

& e 1 wfafafad w33 & fau @ed 1 3@ 27 & fom faenfedi g s 6 9 fega dwrfad =9 3
frafea faran wmoam 2

(a) aFieHTOl (b) 313?":'%3 (c) MTHATHE ThgiTerar (d) =9H
(1) (a) 3T () (@) @3 @) (b) () (4) (o) 3 (q)

Identify the correct statements from the fulluwing ‘
(a) Generally non-metals do not react with water.
(b) Generally non-metals do not react with acids.

1) Neither (a) nor (b) (2)  Only (a) 2
oo # @ W S <R T S O Only®) (@) Both (a) and ()

(a) WIHIRIE: TG I F WA SR 7 w5

(b) TEIRE: AU I F WY Al 6 g,

@) AR@ITO) @ FW@ @ (3) FE () (4)  (a) 3t (o) I
a
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X and Y are thick, black j;
petrnleum and Y is der;
be ?

(1) Coal Tar, Bitumen

7y Coal Tar, Ch; (2) Bitumen, Coal Tar
) s (4) Charcoal, Bitumen

qQuids which can be used for metalling the roads. X is derived from
ved from coal. Which of the following can X and Y respectively

(1) rean, fagi _
() R, TEA (FS-Frw) () (F@-wEe), g

82. Consider the test item given below and match the fnlfln‘fging :
Column - A Column - B PN
Unit of force Joule ]
Symbol of iron HCl N
Formula of hydrochloric acid Ag |
Unit of work —ii|l—

Symbol of silver Calorie
Symbol of battery Fe
Newton
Which of the following is not a reason that can be given to justify that the item is poorly
constructed ? 0
(1) There is inconsistency among entries "y

(2) For an entry in column A there are at the most two plausible entries in column B
(3) There are unequal entries in column A and B =

™y §

(4) The matching pairs can be easily guessed g

Fr & 7 gheqor A W faEr St g fFefEta w5 S
- (v "'4__"!,

FIeH - A e -B N

A F1 IHE (HHF) B

e 71 9% HCl

TR ieh 3TF &l A Ag
w0 # i (EE)  —ill—
wie) &1 fa= Farl
92 71 fa= Fe
S Y -
%mmwgmﬁmﬁ—%ﬁwﬁﬂﬁ’?@ﬁﬂﬁﬁaﬂnaaﬁqmmmﬂﬁﬁmm

o \ it & +>
(1) wfafesi 3 (3 9ra §) faamid ) -] )
(2) aﬂmaﬁﬁwﬁlyﬁﬁzﬁmmﬁqﬁuﬂiﬂﬁj_;wmf
(3) aﬁﬁngaﬁiﬁﬁmﬁ?ﬁmﬁ mmﬁ]
(4) ﬁaﬂgqgsﬁfﬂwmﬂﬂmm -J
N\J
31 P

T TN

(¥ scanned with OKEN Scanner



8. Rm“*fﬂ*mﬁgmmamm&wmm

Assertion (A) -
Driexd raising when left in plain water for some time cwell due to oSmMOSIS.

Reason (R) :

‘ -
{ =
[

.

Plant cells have a selectively permeable cell menthrane.

(1)  (A)1s incorrect but (R) s correct. ‘,__' :

] =

(2)  (A) and (R) are both correct and (R) is therchrrect explanation for (A).

(3)  (A) and (R) are both correct but (R) is not ﬂ‘;’; correct explanation for (A).

(4)  (A) is correct but (R) is incorrect.

Fratatgm v =1 otz o wh = = T IO

Afwmaa (A)
'f{?:h!;_f1umﬂhmgzmtmnéﬂif_mﬁmwﬁMW$mTﬁmt‘
i (R i'-
ey ?llﬂwtmaﬂﬁuﬂmm'nﬂmsﬁfmf%%fﬁﬂl
(1) (A) o1 B uteg (R) =61 8 i

(2)  (A) sty (R) &0 5 § w1 (R) (A) ¥ 0 m t

(3)  (A) 3l (R) @ 5 ¥ 9 (K) (A) € w7 san T4 b

()  (A) B! ® W (R) e B

vodv has a linecar momentum of p and a mass of m  The AC eneryy ' f
84. A body P m. The kinetic energy of the body

s .

e @ - i 2p’m & P
2m

o e NYES §T p W IS (Fr3 m b P s wm b
- L -‘-_.. . 2
o oo Br T spm 4 P
2m

p-11 lllllflllllmil - :

r.
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ich of t ol
85. Which 0 -1‘1& tollow ing “lﬂtumunt(s) IS co ? :
(1) Fertilisers increase the Numbe rrect
.qn ro
(2) Fertilisers are richer i ¢

(3) Fertilisers enhapce the

ff riendly microbes in soil

pecific Nutrients as compared to manure

- water holdinge < of th .
(4) Fertilisers provide 4 0t of hammue i,hcnpni;t) of the soi
frefafaa 5 9 0 the soi
49 FH ar/+ )
RRAE L TP
(1) aﬁmquﬁawﬂmﬂaﬁﬁ o 2 2z B ot &

(2) TR Hl AT el g 2
(4) mﬁ%ﬁmwﬁmm%%

86. Read the following statements carefully and select the correct option.

S1: Rayon is a synthetic fibre.

52: Rayon is made without using any natural raw material.
(1) Both S1 and S2 are false (2) Both S1 and S2 are true
(3) Sl is true and S2 is false (4) Sl is false and S2 is true

frefafad weAi =1 vryds vfee qu w@ fased =1 =97 Fife :
S1: WA U& Hiver= g 2|
62 . T T o fadt wrRfas =1 Tl & WAN F S S €

(1) S1aS2EMH Ted & (2) S1aS2eM TE €
(3) S1H& T AL S2Ted € (4) S17era & 3 S2 Wl @

87. Which of the following is not desirable with respect to carrying out of a classroom demonstration
by a teacher ?
(1) Follow up the demonstration with discussion

demonstration before carrying it out in class

(2) Rehearse the |
hand the linkages that students are required to make

(3) Emphasise before |

(4) Supplement the demonstration with explanations

St 3 i 1 e g el A W 1 e A e o 2
- L

(1) ufte=t & @Y F&3H FATHA Ll

2 ey § ifad w0 4 T4 T _ )
:q; m@ﬁﬂwﬁ(@ﬁ)mwﬂmmmmﬁm%fmw%
(4) WA ﬁlamaﬁﬁmm(wm)

33 P
PLC R
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- ® # ?
Sceptlflﬁﬂ'l 4

88. ‘¢cience promotes

Which of the following best explains the Jua—
g to modify their ideas

1 Scienti . \ . 1111
(1) lentists are open-minded and willin empirical evidence

(2)  Scientists judge the validity of a claim based on objective
(3)  Science is purely inductive in nature

(4)  Scientists do not trust the findings of other scientists
frefefam 4 4 29 s =g &  fagm Fegar 7 999 01 € FA .
R a—p———" L L LRl
R e ————— L R LR GER
(3) faam wgfa & vz =9 4 s

(4) A T (o) A & - wRomE A @ w0

89.  Which of the following statements regarding rusting of iron arc true ?
(a) It involves a chemical reaction between iron and oxygen.
(b) It is an exothermic reaction.
(c) It can take place at room temperature.

(d) Itis reversible reaction.

(1) (a), (b)and (c) (2) (a), (b), (d) (3) (b) and () (4)  (a) and (d)

fr=fafaa § 4 % 3 wya = § 5 o F dEg 1 /a0

(a) e el (s s st i At s W e e

(b) WE uE Fumad sfvfEm T

(c) AT |MA a9 (F1S-TMN) Y # Hadl 2

(d) T Seenvia siffEa &

(1) (@), ® (@ ) (@) (b)(d (3)  (b) 3 (c) (4) () 30 (q)
90. Which of the following is a set of animals in which all show external fertilization ?

(1) Frogs, fish, starfish (2)  Hens, lizards, butterflies

(3) Lizards, butterflies, frogs (4)  Butterflies, frogs, fish

famfafaa # @ 3 S T FTHI T3 7 2 A wht am faiem ) 2oy £

(1) e, e, =iw (2) T, fevwa, faaen

(3) fowwe, faad, 9gw () freeh, fzw, wo

Cporr (RUTIN ARNEE .
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pdidates have to do questiong 31 t:;;?”m NT /el - ____II
( . . ‘ - | |
f, art - 111 (Social Studies / Sociq I Science) THER from Part - 11 (Mathematics and Science) OR from

] 3
am??_? 1 #90 wa}’””-”(maﬁm?)wm-m(mm/mm
/”_\ —
PART - 111 / 311 - 111
sOCIAL STUDIES / SocIAL scieNCE - i 3/ arif s

pirection : Ansuer the following questions b

cafafad v Sty y selecting the correct/most appropriate options.
e : miwﬁ*“@mmﬁmﬁﬁw

31, Our solar family consists of fﬂllnwing celestial bodies :

(1) Planets, Satellites, Asteroids, Saptarishi
2) Constellations, Planets, Sun

(3) Satellites, Planets, Pole star

(4) Sun, Planets, Satellites, Asteroids, Meteroites
(1) 7%, 3, 2%, HaHa

() TeEHEH, TE, i

(3) SUUE, UE, Y9 qI

{4) '{-'Ei, Te, 39U, 4208, IcHhI9s

_ _ﬂ

32. Which of the following ideas was questioned by people from the seventh century
onwards ?

(1) Social privileges are a result of one’s birth.

(2) Only human beings pass through countless cycles of births.
(3) All human beings are equal at the time of birth.

(4) One could break the cycle of rebirth through personal effort.

e v ¥y § fetafas § 9 faw faan w i 3 wae e gE &+ faan?
(1) T favmmfuan fad =1 5= @ ufom

() Fae wE Hifa SfE F S T | T

@) T wAfe = % FHG FHE € ¢

(4) ST AT A A & T § YRR T E

33, tPEri}'ﬂplll'ﬂnﬂm'r a Tamil work informs us about whom ?

(1) Soldiers and military generals  (2)  Kings and queens
(3) Scholars and poets (4) Ordinary men and women

'ﬁ&uqmm-@aﬁa?ﬁgﬁmﬂ?aﬁﬁmﬁrﬁéﬁl%?
(1) Wmm_mﬁ;aﬁﬁ (2) TSI I Al F 9y
Q) fagri sit Ffadi & @A (4) THR qEHi 3R wfEensd F 9w d

SN TR - P
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34.  The book ‘Stripurushtulna’ was written by .,,-.-h.i::h ﬂPandita Ramabal
(1)  Ev. Ramaswamy Naicker (Periyar) (;) Tarabai Shinde
(3) VEurnsnlingnm Pantulu ( ) -l 1 M o7
n i A2) e T
(1) 23 IorEm e (AfER) e i

(3) Fwfem bqg (4)
ountainous areas. Select the most suitap,

. _ e s oy
e Railway network is now extensively being built
reason,

(1) There are advanced technological de _
(2)  Itis easy to construct railways in mountatns:

(3) Mountains are highly eroded.

(4)  Mountain people are making railways.

TETE! &0 H 371 Yot w1 farega Wi € T ¢ 3 3gH H
Wsﬁﬁuﬂméﬁmwﬁﬁﬁaﬁmﬁmﬂﬁm%‘

(2) 9RTEi § Temmil 1 fmio sTEE ol ¢

(3) 9T Hel-aifa €

(4) WETEl M TEmEn S AN @

velopments 10 enable 1t.

1 =14 T |

36. Read the assertion (A) and reason (R) carefully :

Assertion (A) : : . ar b the Preside
Dadabhai Naoroji, one of the great leader of Indian National Congress, never become the Fresident

of INC.
Reason (R) : _ -
He was a businessman and publicist settled in London and for sometime a member of the British

Parliament.
Choose the correct option of the following :

(1) (A) is false but (R) is true

(2) Both (A) and (R) are true and (R) explains (A)

(3) Both (A) and (R) are true but (R) does not explain (A)
(4)  (A) is true but (R) is false

AR (A) 991 FIOT (R) F1 991 J 12 ;

TR dT (A) : ) o
Zreraré A, ST IRET TR FE F 92 AW 4, w6 i e T i 3 sege 79 9
10T (R)

ﬂmﬁ{mﬁlﬁﬁﬂﬁﬁﬁﬂaﬁ{@m%mmm%mmﬁﬁ“
Erefafed 8 | E& fased 34

(1) (A) TR R (R) T

(2) i (A) T (R) FE T TD(R), (A) F w1 e 7

3) a:ﬁ(mga‘(mwﬁm(m.mﬁamﬁm.

(4) (A)nﬁﬁﬁﬁ(mﬂmt

T R 36 0
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P-nr .
ol (TR T

. The true representative model of oyr |2

which of following twe Bases make up the bulk of the Atmosphere ?
Ozone and Heljyg
(1) & (2)  Nitrogen and Hydrogen

(3) Carbondioxide and Oxygen (4)  Nitrogen and Oxygen

if 97 O\
hﬂf-ﬂlﬁ p{!ﬁ"{:‘ Hl I[fl,[m 7F|'F| Tﬁ m ﬂ?i E? b
(1) G| 3 'ﬂlf"’l’m

Ry A i R
{ )

() R TSR i st (4) A ;hwhfﬂ'ﬂ

arth is : Y
(1) Globe (2)  Map (3) Satellite image (4) Rugby ball
gt Yl 1 arafa fegr afipn ¢

) (2) wrfaa (3) FwwAwafaa @) v

The Child Marriage Restraint Act was passed in 1929. According to this Act, what was the respective

minimum age approved for marriage, for men and women ?

| e
(1) 17 years and 15 years (2) 20 years and 18 years
(3) 18 years and 16 years (4) 21 years nnd 18 years

1929 7 A1 faam fa afufag wifr famn ) malfvmzﬁﬁnnwamnﬁwmﬁqmaﬁ
A 7 FR1: e v v

(1) 17 94 a41 15 94 (2) 20 41 18

(3) 18 @ a41 16 94 @y 21 a41 18 ad

The earliest evidence of growing crops like wheat and barley are located in which one of the
following places 7 Choose the correct oplion. N\

(1) Nilgiri hills (2) Garo hi]@-‘!‘ -

(3)  Malabar hills (4) Sulainm_ﬁ,;iﬁd Kirthar hills
'ﬁ’('qﬁ'sﬁ'ﬁﬁqﬁmm&:mwm&qﬁmﬁaﬁ%mmﬁﬁﬁﬁ?? wt fa@e &1 wmE i
(1) Hrefird feen 2) mafiem

O e fre (4) HeWRA 31'“ faen fee

37 P

-

e e
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41. Winds blow dry leaves down the pavement. How do winds blow 7

(1) Movement of plants and animals.
(2) Movement of air from high pressure arca to low
(3) Movement of air from low pressure area tqhigh pressure areas.

(4)  Movement of condensed air. Ljf
Wmmﬁr&q@m@mﬁglmﬁm??
(1) mmmﬁﬁ-ﬁwmvﬁn )
(A ﬁmmﬁﬁmmhﬁﬁnaﬁzﬁmﬁﬂr'j
@y T <@ i A v ) s L k
(4) wufE arg =t ofq IND

pressure area.

42. Read the Assertion (A) and Reason (R) carefully :
Assertion (A) :

In 1960, the bilingual state of Bombay was divided into separate states for Marathi and Gujarati
Speaking people.

Reason (R) : Y

In 1966, the state of Punjab was also divided lnln two States Punjab for Punjabi speakers and
Haryana for Haryanavi or Hindi speakers.

L3
i
-
-

1

Choose the correct option of the following :

(1) (A) is false but (R) is true ¢ 5
(2) Both (A) and (R) are true and (R) explams (A]

(3) Both (A) and (R) are true but (R) does not- explain (A)

B -
L

(4) (A) is true but (R) is false A

ATHRGT (A) 791 HRT (R) F1 977 9 13

e (A) :

1960 H fgrdt =7 Wid =1 Tt 3R Towwr st @i 3 fory S-S T =tey 1
&HIOT (R)

freifafad § | W fasey 94 S
% (A) Terd € fahg (R) el | ) 1

(2) @i (A) TE (R) /& T 741 (R), (Alﬁﬁi‘mﬁm
(3) gFi (A) W& (R) W € fahg (R), (A)ﬁmmqﬁml
(4) (A) &l & fohg (R) 7Terd | N

poxr AT 28
p
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The diseases that spread from one person to another through water, food, air etc. are called as :

13 Congenital diseases

(1 . (2) Genetic diseases
0) C{]f][j]uml:ﬂble diseases (4) Acquired diseases
ﬂmﬁmmva’mﬁ@’(aﬁmﬁ - e, Mo, g serte @ e € 99
(1) T S e & (2) S eeikedeiuiteieraid
.(Vmﬁqwmﬁ' (4) Suifsta Al &ed €

. Read the statements (A) and (B) carefully :

(A) In 1770, a terrible famine killed ten million people in Bengal.
(B) : About one-third of the population was wiped out.
Choose the correct option of the following :

(1) (A) is false but (B) is true (2) Both (A) and (B) are truc
(3) Both (A) and (B) are false (4)  (A) is true but (B) is false
91 (A) 991 (B) Fl 249 | 42 .

(A) : 1770 5 = § UF YA 1Tl 1 e TF HUg arti 1 A ST
(B): 8 I H AN F TH-faers st @e € T |

FrfafEd 4 9 el faeey 99 ¢
(1) (A) T & fg (B) FEl (2) <A (A) 7@ (B) FE T
(3y TFI (A) T (B) e T (4)  (A) T % f= (B) T

s5.  Which of the following statements help in sustainable development with reference to present day

resource availability ?

(a) Reducing consumption of resources
(b) Increasing resource use

(c) Recycling resources

(d) Reusing things

Choose the correct options :

(1) (a), (b), (d) 2) () (c) (d) (3) (@), (b), () (4) (b), (c), (d) )
mﬁﬁm-mmmmﬁmwm%mﬁ#maWMﬂm

() TENET F @I Rl T

2 @@ 0 @O0 @ O0

q 39 £
TR TR
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46, ndian hu[u:unltl‘l{'nt.

ﬂunh«: the statements that explain the Ganga-Brahmaputra Basin in |
‘:] to. |“'“l'l.‘t'l1tl" l'-t‘lh“t!\ I,:r‘!“. in thniﬂ Il'ﬂ"l'“
{ ] ]1‘[‘ [‘a‘“‘ Ih""h in !Ui‘-lft‘l}!iun: r"-‘ﬂ.““‘-

() The area i dominated by Monsoon climate.

o) The bass
) The basin area has a vared m]m;:m]‘h_‘f

\ hth‘ﬁl“ the COrreet Option |

M@ o, (M ) ), () (V) (M) () () (4) (@ (). (@)
R IRy § vim WEMTE Rfigy A e w0 A W e

(3a) ™Wyn g L AL S UEE &

)W S o o fia B

() TR R I 3y e wragd #
(d) R D5 W fafigs gan 3 wrArrfa B
R s w wms adfan

N @A) (), () ._\)3' (a), (M), () (3)  (b). (c), (d) (4) (a), (b), (d)

1' -
rormid Zone on Earth receives maximum heat as

0 ravs of the sun are slanting here
(<) 1is land locked

()it is bounded by oceans

(%) the mid-dav sun is exactly overhead

T W T F oAy &% wad sifuw sun v s Fowite
(1y =@ H‘G &1 frr faroh o €

(2) TewEEg R

(3) 9T T A fEa

- T I THEIE T E I em

348. Read the statements (A) and (B) carefully :
(A) : The Veda Samaj was established in Madras in 1864,
(B) : It was inspired by the Arya Sama,j.
Choose the correct option
(1) (A) is false but (B) is true (2)  Both (A) and (B) are true
(3) _Both (A) and () are false (1) (A) s true but (B) s fase
FoAl (A) 391 (B) F1 YA R 9¢
(A) : ‘A% TR FT T 1864 H w2 W gl
(B) : A% FETS, A1 JEE | i 91

frerafa § & W fawes 1 .

(1) (:‘-?W*fﬂ(ﬂ)m' J2) T (A) 79 (B) B §
(3) (A) A (B) T () (A) % & fam (B) e

porr RO EETTR -
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4

gead the statements (A) and (B) carefyl

ly :
(A) . In 1817, Jame Y

S Mill publisheq ‘A History of British India’ in three volumes.

(B) : In this he divided Indian hiﬁlur}r into three peﬁuds - Ancient, Medieval and Modem.
Choose the correct option of the fullmving :

(1) (A) is [alse but (B) is trye (2) Both (A) and (B) are true

(3) Both (A) and (B) are false (4)  (A) is true but (B) is false

eI, (A) T (B) I 419 J o3 .

(A) : 378 T 31817 5 0 e sifes fafry e < il A et o6
(B) : T TR MR SR H e i - i, won i sngfE A e

e 1 8 W o
1) (M) T E T () W@ @y 2Fi (A) A (B) T €L
(3) < (A) AT (B) TTeTd € (4) (A)gﬁ%ﬁﬁﬂ(mﬂﬁﬁl

50. Read the assertion (A) and reason (R) carefully :

S TR

Assertion (A) : ) .
‘ ‘ ] r 1 ’
Tribes have rich and unique cultural traditions including their own language and mus

Reason (R) :

' i ‘body
Land, forests, grasslands and water are regarded as the wealth of the entire tribe and everybody
shares and uses these together.

Choose the correct option of the following :

(1) (A) is false but (R) is true

(2) Both (A) and (R) are true and (R) explains (A)

(3) Both (A) and (R) are true but (R) does not explains (A)

(4) (A) is true but (R) is false

SfRTRAT (A) 991 T (R) F o | T :

::ﬁ:;;@ﬁm-mimmﬁ T e T ot vt & aed wgs awn fafre E €

T (R) :
S, ST, | 6
{
ﬁqfﬁf@ﬁffﬂﬂﬁﬁmﬂﬁ:
(1) (A) e & g (R) O

' ), (A)
(2 mmmammﬁ%wm
3) ﬂﬁi(mqa'(umﬁ%fﬂ(n).(mﬂﬁmda Tl |

(4) (A) =@ & forg (R) T4

r

ﬁgmamqﬁiqigﬁﬁaﬁqmﬁmﬁm?ﬁ%l fsreremt SqA Tl U T faersert S

F =T F ¢
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o1 Ladakh is also called Little Tibet due to:

(@) Geographical proximity ~ (b) Religious Fimik'ﬁf}'

(€)  Similar cuisines * (d) Linguistic similarty

Choose the correct options :

(1) @). ®), () and (a) ) (@), @) and(©)

(3)  (b), (c) and () (4) (a) (b)and (d)
% F werg w1 g fraa o FEd €

(a) simfers mmdes (b) e JHEAl

() ¥HA Vo (d) sTaTE FEE

T fawe w1 e =it

M (@), (), (c) 7 (d) 2) (a) (b) I ()

(3)  (b), (c) 3 (d) (3) (a). (b) I (d)

e T : ot C
52.  Which one of the following is not true regarding Hindustan Socialist R publican Association (HSRA),

Choose the correct option :
(1)  Members of the HSRA assassinated Saunders, a police officer.
(2) Bhagat Singh and his comrades founded this organisation.
(3) It was founded in 1928 at Firozeshah Kotla in Delhi.
(4) It was founded in 1928 at Amritsar in Punjab.
g it fosfeam wifauem (ra sy ¥ an § frefatos 8§ 3 wE-m weE 5d T e
wht fawen Tﬁ :
Sy TRUASRY & wewl | wied amE yfem e # e  Fod
(2) wma foe o s wifawr wifudl 3 7531 = #1491
(3) 1928 ¥ feeeit & fwgewme ween 5 s =9 2 |
(1) 1928 T YA & AR W THE1 = i

53. What makes an object or substance a resource ?

(1) Discovery of object (2)  Purification
(3) Utility or usability (4) Extraction
o <1 fardl o5 HUal Y2 FEES 9961 7 7

(1) TG T 2) wfzFm
(3)- ST S T (4) Ty

p-11 QI SR 42 p
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U (TR TR T

sad the Assertion (A) an
i;_ﬂu:ﬂinn (A) : ) and Reason (R) carefully :

[t was during Shah Jahan's reign _ |
' ) that Mughal architecture were fused
together in a grand hﬂrmnninug 5\ the different elements of Mugha e v

Reason (R) : Mthesis.

His reign witnessed a huge am ~, . SRTIE and Delhi
Choose the correct option of chI:'EL ;}fgznﬁtmtnun activity especially in Agra and 1.
() (A) is false but (R) is trye iy
(2) B‘_’th (A) and (R) are true ang (R) explaﬁu (A)

(3) Both (A)and (R) are true but (R) does not explain (A)
(4) (A) is true but (R) is false { 20

HWRET (A) TN I (R) ) gm gz . o

Hfwa (A) : ~

MEE & AR & A [ g § S a9 & W G Sve § w6 T
&IOT (R)

39 A B Fa (i 0 we @, v w9 | s 3iR faeet §

e % T P =

(1) (A)TEa T g (R) =8

(2) @i (A) TF (R) TE E a1 (R), (A) 1 =0En 7§
B2 (A) UE (R) 76§ 7 (R), (A) Fi =men 76 & g
(4) (A) T E fF5 (R) 7o .

N

Read the assertion (A) and reason (R) carefully :

Assertion (A) :

The Mahalwari settlement for revenue collection was introduced by Holt Mackenzie.
Reason (R) : |

The charge of collecting the revenue and paying it to the company was given to the village headman,
rather than the Zamindar. B B

Choose the correct option of the following &

(1) (A) is false but (R) 15 true

(2) Both (A) and (R) are true and (R) explains (A)

(3)  Both (A) and (R) are true but (K) does not explain (A)

(4)  (A) is true but (R) is false o

afiarerT (A) dYl FROT (R) F1 24 8 92 -

iy (A) : S
mmm‘maﬁm'aﬁmmmmqmm:

HRT (R) : e .
maqﬁammﬂﬁsﬁvéaﬁﬂﬁmm.mmumméfﬁﬁﬁsmw
feaferfio & Wt fased T - =

(1) (A) e € fg (R) §E I,

() 2 (A) UG (R) e E aU1(R). (A) F H‘Imw_?l
()’ i (A) wE (R) §@ E, T (R)(A) 1 SR T Al

. \, )
(4) (A) w@ ¥ fE (R) T I\
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6. The Prairies are known as ‘Granaries of the World'. Select the conditions that help in production
of surplus wheat in this region.

(a) PEﬁplE do not use technology here. Y
(b) People are very hardworking here. .

P Ten
L
&

(¢)  Scientific methods of cultivation are used here.,

(d) There 1S a lack of rainfall in this region. “'

Choose the correct option : e
(1) (c) and (d) are correct (2) (a) and (b) are correct
(3) (b) and (c) are correct 4) (), and (d) are correct

9T 1 fava = wra i § o wew § ST T & sened § woras URRAfE w5 ¥
I

(a) =& = Wt @ e T o
(b) =T &M aga wfiad ¥ £

(c) ?ﬁwmﬁfﬂmmwmmmﬁl
(d) mmnwmm?i

e famwey =1 = e .
(1) (c) ¥ (d) = & (2) (n)'—aﬂj{ (b) T ¥
L(/ﬂ_)r (b) 3N (c) 9&l ¥ 4) (a) 3T1'I (d) T §

57. Lines drawn on a globe are known as |

serve ? atitudes and longitudes, What purpose do these lines
(1) They are furrows on earth and indicate physical features of the carth
(2) To make designs on globe
(3) To locate places on earth
(4) To beautify the globe
U Tl W Gl T @ @l sy ﬁmmmﬂmm?, 3 T e
(1) ﬁqﬁﬂﬁ-mﬁﬂmq&ﬁaﬁtﬁﬁ?ﬁmmmmmh‘ < B SR E g e § 2
(2) A R feuET 9E & fog ’

_£3) geal W M $1 &A1 & forg
(4) T 6l qX [ & fog G

p-11 (EEH AL AT 44
P
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58.

S W TR

The atmosphere is g thjp, laver a¢ ..
the earth ? »°r ol air surrounding the Earth. What keeps the air to remain around

(1) Gravitational force of mon
n

(3) Heat of the s (2) Gravitational force of the Earth
- . sun

(4) Rocks and oceans on the earth

& AN 3R e 8. .

v . Wmmmmﬁwmﬁlwmaﬂﬁgwﬂiﬁwaﬁnmmﬁ%?
TG F o

i : o {2y g 1 eI T

(3) T & o

(4) Yot W R SRR

Reasons and Assertions -
Assertion (A) ;
Stereotypes prevent people

Reason (R) :

from doing certain things that they are good at.

Stereotypes stop us from re
one pattern.

Ccognizing unique qualities and skills in individuals and fit them into
Choose the correct option :

(1) (A) is false but (R) is true

(2) Both (A) and (R) are true and (R) is the correct explanation of (A)

(3) Both (A) and (R) are true and (R) is not the correct explanation of (A)

(4) (A) is true but (R) is false

T AT ATqFU .

NUHAT (A)
Figdg MITUNG EIl %1 UH &8 &0 Tt € for 9 o €
@ (R) :

wfgag o & Sfa § S i 3 HIve B 2@ A Al € 991 I UF 6 R F G o 9w Il
Eq

& fageq =1 997 Fio |

(1) (A) e € 97 (R) ¥ T

U2y (A) 3 (R) SFi T@ & a1 (R), (A) FT Tl SATEA T

(3) (A) @i (R) S FE E A1 (R), (A) P HE SAEA T 2
(4) (A)G& & T (R) T €

45 P
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that support
. , correct statements
60. India and Bangladesh are leading producers of jute. Choose the co
growth of jute.
(@) It grows well in alluvial soil.

(b) It requires high temperature. o
(c) It requires low temperature and Jow rainfall.

(d) It requires heavy rainfall and humidity.
Choose the correct options :

D @), @) ( %) (a), (b), () are correct
SRS B R AU IR ——
NI SR A v () S I ¢ = R
Fitey | |
(a) % Seiz wa § e @ A fasfed o ¢
(b) 3 =9 YA F1 EvaEa o6l ¢ __
() T8 fi aranm siv fie i @) staw e €
(d) T3 Wil aui i sda 9 snavTEd O ¢
T fawey =1 =7 Ffsu)
(1) @) (), (d) =& ¥ w2 @) ©FE
() (@), (o). () T E (@) ) (@FE
it s . R ‘Insolation” ?
o ’(’:)md_lenﬂ: - m‘-‘ﬂ"gi} N gjﬁi-hsutz‘l;nnc Pl(;)f Brain-storming, (4) Demonstration
‘ST’ F A T2 1 A Sl a0 S
(1) HeEew (2) W =A @y ferem-ne (@)

62. Consider the following Assertion (A) and Reason (R) and choose the correct option :
Assertion (A) : N | ;
The disciplines that make up the social science are history, geography, political science an
eCoNOMICS.

Reason (R) :

There is interrelationship between the disciplines.

(1) (A) is false but (R) is true

(2) Both (A) and (R) are true and (R) explains (A)

(3) Both (A) and (R) are true but (R) does not explains (A)

(4) (A) is true but (R) is false ‘ H

e ifiraRer (A) 941 HIPOT (R) T faan &1 qa1 |é fashed #1997 Fif :
atfaere (A) : ‘ S ‘ B

faren fergma it mfSte: famm &1 99161 € 4 € sfaer, e, Tsifas foam den e |
0T (R) : o

== faen favmi § @ Ha9 €|

(1) (A) TTEd € T (R) FE

2) (A) 3T (R) 3 FE T A1 (R), (A) F1 =0 F7dl B

(3) (A) 31T (R) 21 9el & 991 (R), (A) F1 == 6 w4 &

4) (A) Hel & 9% (R) o1 & |

porr AT 46 "
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63

“W I

. do elections tak
why do ake place ter a fixeq fime interval in d i
e interval in democracy ?

To ensure account (
0
the government

(a) ability
(b) To ensure equal poljy

(C) To encourage Pﬂlilical dgbam y the PﬂrhEH
and public dialogue
(d) It is @ customary Practice y

Choose the correct optjgp .

(a), (b), (c) and (d
(1) (d) (2) (a), (b) and (c)

(4) (), (b) and (d)

() TR AT Ao s a3 viemfen #7  fo
(d) € TH WU Wi §

wE I & =/ FfQ

(1 @), (b), (c) 3 (d) (2) (a), (b) 3R (0)
(3) (). () I (d) 4)  (a), (b) 3R (d)

-~

Which of the following is true about sources ?

(a) They are more concrete in nature

(b) They are all historical in nature

(c) They are objective

(d) They include accounts of eye witness and personal letters
Choose the correct option :

(1) (a), (c)and (d) (2) (a)and (d) (3) (a) and (b) (4)
fm 9 i | S o A a2

(a) o sifirm 39 Yl & e €

) 3w dfierfies T @0

) IagAEeas |

() v et & oA S A o 0 ¥

W faweq @ gga Hiod|

(a), (b) and (¢)

1) @@st@ @ @I@ O @ME @ @ 0N
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65,

66.

Assertion and Reason :
Assertion (A) :

L (LH .n L)
Open-book exams shift the focus away from rote learning
textbook.

Reason (R) :

wnte as they don’t nee
Open-book exams reduce the burden of students as they
beforehand.

Choose the correct option :

(1) Only (R) is true

(2)  Both (A) and (R) are true and (R) is the correct explanation of (A)

to a more invol

ved engagement with the

d to prepare for the exam

(3)  Both (A) and (R) are true and (R) is not the correct explanation of (A)

(4)  Only (A) is true
svFYR 3 FRm
AFfFHUT (A) :

WWﬁmwmﬁmmﬁ%mﬂﬁduwﬁamm%ﬁmﬁ%!

HTOT (R)

qﬁwwmmﬁmmmwmﬁmmﬂuﬁ&nmmwnwmm

el faweq =1 =79 |
(1) ad (R) F& 2

2y ZFi (A) @ (R) FE § a9 (R) T FAET F@ T (A) F |

(3) Fi (A) A (R) T € 941 (R), (A) Tl HEl AR G FLl |
(4) Fae (A) T T

Fill in the blank with correct option.

An alert and vigilant public is necessary for developing a strong

(1) Autocracy (2) Monarchy

(3) Democracy (4) Oligarchy

fre T 1 AR fawed @ T

F 32 o fama & & o gad 3T gem S STavaE ¥ |
(1) T (2) T
3y W (4) T

e L -
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sder the followinge
. C{lﬂblde 74 ﬂSEESSmu
Me

gﬂt,enm‘lfﬂt.

. What is the pPurpose of _ ‘
(A) : tebate ? % PTess conference 72 How is it different from a Legislative Assembly

Nt questions (A) and (B) related to the working of the state

. What is the term ugeq  , (C\J | ‘ the rulin
(B) party and who play the efer to elected representatives who are not members 0 g

role of quesliuniné goi‘t. decisions ?

Choose the correct option - :

0 Both (A) and (B) test factual knowled
0) (A) tests conceptual knuwlmlﬂu

(3) (A) tests factual knnwludgu whereas (B) lt'Hl.‘; Enncuptuﬂl knowledge.
) Both (A) and (B) test conceptual knnwlodgl‘. -*
Y

Wwﬁmﬁﬁmﬁmmﬁﬁwwm)mWﬁn
(M;mﬁlﬂmﬁmﬁmﬁ? mﬁtmmﬂﬁﬁmﬁmﬁmﬂmﬁ? )
p): ¥ Pt SRffir 3 for fam w1 i e <h e 2 3 v e €08 e A
W HATA 33T § ?

@t faed F1 =T Fiiaw
(1y~ 2 (A) TN (B) FoATeras 5 1 i €10
) (Alwmﬁﬁ?m%m(ﬁ[mmﬁl
(3) (Alﬂmaﬁﬁra‘hm%m(ﬂ)ﬁaﬁjﬁ%mﬁl
() < (A) T (B) HFCIAAT T Fl Aid w6

6. While evaluating social science the [nllnw;i-:g questions will help to understand 1its
objectives : s

(a) What skills are emphasised in the syllabus ?
(b) Is it derived from a standard text or combination of texts ?

() How detailed is the outline of syllabus ? | | .
(d) What level of competence is demanded of learner on cach social science skill ?

El;mi)m;; :::c(i;ph(j: @and® G} @and@ @) @ G and(o

A fa & geaie & 4 freeran 49 SEE

- =)
§ o el W A RS _
" —_— 3 feran TN &) FE g 4 2

s .

—
V|
1] 'r'
HE’.
!

whereas (H)jlﬁsts factual knowledge.

0 @@ @ @
b _
o (TR TR

—
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be best suited ?

69, Fnr lEﬂChing Whll‘.‘h of the fﬂllumng lgpics, a tree Chiil't Wﬂllld

* tc
(1) Distribution of demographic variables such as age, gender, race €

(2) To give summary of reign of a ruler
A such as wars, revolutions or

3) To illustrate the hierarchy of historical ct'entskln a particular el

social movements '_T:"
(4) To teach modern history =)

() ,
FreAfefan & 4 fa fawa & e & fog 21-0¢ S 399 @M 2

(1) 3, e, 7 wem iy R < A & fer

i 'h‘-l

(2) Y9 & WHAFE F1 9R 29 & fau

ﬁ}f'ﬁﬁmmﬁmmﬁ.ﬁgﬁ.mmmﬁﬁm%mﬂﬁm
feam & fau

@) Sy YR T ¥ o0

Ty

- - ——
-

70.  Which of the following is not a characteristic of continuous comprehensive evaluation ?
C )

(1) It focuses on marks based evaluation of student’s work.

o, !

(2) It makes evaluation an integral part of the teaching-learning process.
|
(3) It focuses on all-round development of the child’s personality.

(4) Itincludes an assessment of scholastic as well as co-scholastic aspects of the students growth.
frefafad § 9 SA-91 9ad 31 ANE Jodidd $1 fasadl T8 & ?
(e famndi & s st F e wof §

(2) 7% YedihA o faeru-3iim wfswan Cﬂﬁ{:“rmm@
@) e el % i i wai o o

. ‘ ]
(4) g faendi & Al 1990 5 Wy He- e Yea 3l #1 W e w2
A,

p-11 (B TIEI A 50 P

(¥ scanned with OKEN Scanner



Two lIl‘Il‘ILI'l“'l‘lﬂl'lli'll Right
1. with dignity and as ¢

arginalized groups can invoke, Lo insist that they be treated
(@) Right to Equality
(b) Cultural and Edurnlimml Ripht

s
() Right against E::plnilntiun
(@) Right to Liberty
Choose the correet answorg :
) (@) and (d) ) ¢
() ( (2) (@) and (b) (3) (b) and (c) (4) () and (d)
2 wifers SfHFR St win @

waer fFm s, | § TR e am % W €, @fF S Wa il I 3 TeeE &

(a) TEEA H AfuwmR

b) FEFfaw SR el sfign
(¢) vy & favg sifimm

(1) (a) 3R (d) (2 (a) 3R (b) (3) (b) 3 () (4) (o) 3R (d)

- L. ® .
2. Which of the following resources/strategies can make a social science classroom
inclusive ?

(1)  Encouraging only answers from textbooks,
(2) Display of stories and photos of people from various communities and regions.
(3) Teaching only dominant views of society.

(4) Avoiding examples from immediate environment,.

Fefefas § | F=-m FEeAAH T TF e 999 6 e 1 q9EaeW a0 gad 22
(1) Fae e | IW 21 & fad W )

(2)— Fafir= ger it dri & airi ol et i TR 1 2w w

() Faet wom F wyed fa=rd Fi @

() oo & sgei | 991

P
ol [ TTETTIRTIT ] P
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. . . ing O Lions.
73, l(len[if}- a skill-based objective of teaching, soctal sciences from the following OF

(M To acquire knowledge of continents

st i " TEL 2 “1 b 1 bt |
(2) To understand the cultures of P"“l‘l" living, in different socteti
(3) To dl‘\'t‘lup an ability to draw a map

(4) To develop a respect for difference and diversity

F'fq 3| ﬁ. amfsra fagm 11;;1’51 ¥ e amifa 'c'ﬂiﬂ"l RIS B i |

(1)  \wEEN & 3 wra
(2) fafvm= vl o ) e el ) st @ o
(3 T TR W) aprn fwfaa won

(4) a3 fafaum ¥ fau sy fawfaa w00

/4. The statement, “The Indian Constitution provides safeguards to religious and linguistic minorities
as part of Fundamental Rights' infers that :

(@) it protects minorities against possible cultural domination by the majority.
(b) it protects minorities from any discrimination by the majority.

(¢) it safeguards minority interests.

(d) it guarantees economic opportunities to minorities.

Choose the correct option :

(1)  (a), (b), (c) and (d) (2)  (a). (b) and (c)

(3) (b), (c) and (d) (4) (a), (b) and (d)

Fu[, WA Jiau[ aifdE S vl SeeEerEsl 1 g w1 WENE SiEs Sien | 55 2 1.
HAA @Al g &

(a) TE ACHAFI G [P FEHAH U & AU TSI T R A 2
(b) T FeHETH M fFH TE F GR9E | eqHEEm] w1 W w0 ¥

(c) T IH@rH & fedl F1 quen Fm ¥

(d) g ACTHZAH| 1 NG Fa571 F M w2[ w@ T

& faseq &1 =47 Ff |

(1) (), (b). (©) ¥ (d) (2 (@), (b) 31 (o

(3) (). () > (d) (4)  (a), (b) 30 (q)

p-11 (AT 52 ;
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75

76.

Rl (T

The Indian judiciary upp)

d
ffective control over the o 1€ ule of fgy,

(1) Democralic values enshrinegq ;
in

» without any fear or external influence, and maintains
€ government because of :

_ Indian Constitution
2) Supremacy of ]Udlmary in Indj,

(3) II'IdEPEHdEﬂCE of iUdiCiary in India
(4) Judicial activism

Wmﬁmﬁquqm

o7t P T T % e TN el zare F A F A F W FE L AN TE F FE W

TR :

[dentify the immediate measures w

1 o : hich ensure women’s safety and enable them to take up jobs,
support family income and in beco

ming self-reliant.
(a) Provision of child-care centres

(b) Reservation of seats for women in parliament

(c) Provision of occupational safety

(d) Pick and drop facility for night shifts

Choose the correct option :

(1) (@), (b), (c) and (d) (2) (), (b) and (c)
() (a), (c) and (d) (4) (a), (b) and (d)

3 TehIcieh YTl 1 TedTT FHIToTT S AiEensdl Hi qE T 3¢ A0 H, NE 3m ¥ armem w6
T At aae | giafea @ €

(a) aTcraEItEdl 1 WEHHE

(b) ez § wfgensi % forg e F AE

() =yawEIas Juay 1 qaHr

@) T F e (forwe) & forg @A T F G

Wt fageq @1 waa Hifaw
B (a), (b), (c) 3T (d) (2) (a) (b) 3 (c)
) (), (o) 3 (d) (4) (@), (b) 3R (d)

53 |
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77.
Reasons and Assertions : . India

Assertion ( A) : ( illages
: rom viliag
Many cases of farmer’s suicides have been repurted
Reason (R) :
Failure of Monsoons and inability toO
(Chuusu the correct option :
1) (A) is false but (R) is true tion of (A)
. [ . X lﬂnﬂ on
() Both (A) and (R) are true and (R) is the IE:mﬂlﬂ:rlr:iclp‘«e:xp"lamu'ntin:m of (A)
(3)  Both (A) and (R) are true but (R) is not the €0
(4)  (A) is true but (R) is false

! ] ers-
IEPI: }' ¢

Hﬁ;aﬁ{ﬁw
aTﬁ-IE-TEn(A)
IR 5 it 3 farr 5 o e T fE R0 T
T (R)
: i 1 SHIROT S © |

(1)  (A) 7T & 9o (R) 581 &1

(2}~ (A) 3 (R) 2Fi T § 791 (R), (A) F T SAESA B
(3)  (A) 31 (R) i T8 & 77 (R), (A) 1 W A T2 < |
(4) (A) [21 T T (R) Tera B

78. Assertion (A) :
Teaching of social studies is important at the elementary stage.
Reason (R) :
It sensitises the child to social issues and develops in him/her a respect for difference and diversity
Choose the correct option from the following : |
(1) (A) is false bul (R) is true
(2)  Both (A) and (R) are true and (R) explains (A)
(3) Both (A) and (R) are true but (R) does not explain (A)
(4)  (A) is true but (R) is false

IR (A) :
uﬁﬁﬁ?mwnmﬁmﬁaﬁmﬁmqm%,

frefetad 5 | F& a8 F =97 Fifay .
(1) (A) Ted & 95 (R) FE &

(3) (A)W(R)ﬁ'ﬂﬁgqﬁm)‘m)m‘w .
(4) (A) T & I (R) e ¥y

p-11 I AETIRETE ”

(% scanned with OKEN Scanner



l'hl'.' fﬂllﬂW]ng is mnst
i q.“abuﬁ? APPropriate for reducing curricular load of Social Science

. Onm - .
) Focusing ON conceptyq] €morizing facts and focus on comprehension.

! . t Clﬂl‘it}-‘ -

4 Skipping certain top; \J
© familiarity with ﬂ'leptlli;r; M the textbook based on exam directives and teacher’s lacks of
Choose the correct optiop . I

ly d =~
eyl © @) 0 and
O o 1‘;“:1 TETEY (4)..1 Only (b) and (c)
Wﬁ“m*mﬁwﬁ—rﬁaﬁﬁﬁwmm%?

2l

7 fawcd 1 997 Fhifau

() F @) e'f" (©) (2) 2 (a), (b) 3 (c)
Gy F (@) SR () ONEESICEC

0. Many workshops and factories located i:},{ﬁdushial areas employ casual workers because :
(a) They can hire and fire them accnrd:iﬁg to their convenience.
(b) They save on salaries and other job benefits which are paid to the permanent workers.
() Casual workers work long hours without demanding overtime wages.
(d) Casual workers are more hard working as compared to permanent ones.
Choose the correct option :
(1) () (), () and (d) 2) (a), (b) and (c)
(3) (b), (c) and (d) (4) (a), (b) and (d)
i S5 5 Frorg ¢ FIaTT qn Sl § Srerdl Afae 1 @ S €, P
(@) & 3% FOR GRAER 7@ S e e ¢
(b) 5 ot i 1 faer AT dad a4 ARd Jar feq w9 Fd ©
() mﬂﬁﬁmmﬁwﬁﬁﬂﬁmaﬂmﬂﬁmm%
) e e w geEn d ST FH ffﬂ?“ﬁﬂ:ﬁ%ﬁﬁl
Wit famey &1 w9 HIaC | :

U (), (), (c) 3 (d)
3)  (b), () 3R (d)

@, (@, b) 3
4) (), (b) 3T (d)

55 P
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ised sections in your class. So,

81. g things should

It is ' i belonging, to marginal :

wheﬁf&bie&;::kizreabn;:gthtthzenzt:::rfg?_margi:%ali%mtinn. which of the followin

you keep in mind before introducing the topic ? |

(a) Taking names of particular cumnﬁmlnm might cause discomfort to those belonging to those
communities. (—*‘:

(b)  Such issues need to be handled with-sensitivity.
() Some students might feel shame u?falhng about their experiences of discrimination.

(d) Students should be forced to sharé‘tl}eir experiences.
N As

100se the most appropriate option :

(1) (@), (b)and (d) (2) (a)and (b) (3) (a) and () (4) (a) (b) and (c)

U HE & fo e e e e o o 9, St e o e W H A T e
@ T s #ea gu s frstfetan 9 e A @ e e i 2

() T R F AW T W FHEE G A G TS WegH H b |

(b) ¥R w5 8 7 i & e e

(©) T o ST T g S 7w i T e

(d) ﬁmﬁhnﬁwwamammml

TH Ioqa fages = .

) @@ @ uWTTE) T G @I @) (@) b

- A _
82. Which of the following statements is irrelevant representation of diagnostic evaluation ?
2 < L1 H

(1)  They are usually followed by remedial classos

(2)  They are used for comparing the learning achievements of all the students in ¢l
{ : ~ ass.
(3) They are conducted during the

ir.‘l.;il.rléctinnul process.
(4)  They help to identify learning difficulties.

ﬁmmaﬁﬁmﬁﬂ-mmﬁqﬁa&ﬁ%ﬁfmmmﬁm%?
(e W SR T & A o

Loa®
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P
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Educﬂtiﬂn T - . . . . ,
xtbooks > as per NCF 2003, are social science topics independently

Choos€ the correct option of the fnllnwiﬂg

) Higher Secnndar}, Slage

(2)  Primary Stage
o) Upper Primary Stage

7 UF. 2005 F AN, o : o s o mreiey ey
@HIF 2 T foen 5 iy > forqdi =1 AT F9 3 QROTEE |
AT M 5 = e fa &

(4) Secondary Stage

(1) I A R (2) et
(3) = MYHF =7 (4~ g

g4, In Indian secularism, the state maintains a “Principled distance” with respect to religion. This
means that :

(a) State could interfere in religious matters on the basis of ideals laid out in the Constitution.

(h) State and religion can interfere in each other’s matters.

(c) State and religion cannot transgress each other’s boundaries,
(d) State can regulate religious affairs when need arises.

Choose the correct option ¢

(1) (c) and (d) (2) (a) and (b) (3) (b) and (d) (4)  (a) and (d)
wrd spfrcern . T, W 3 wedd # uw ¢ Agifaw g0 T T 2 ) v 714 7

(a) wfaym ¥ fau o smEwl & MU W wifda wel | wmay &1 7 ¢

(b) T 3ﬁtuﬁu\tﬁ§€{é€mﬂﬁfﬁméﬂﬁmil

() T 3R qﬁ@qﬁ:ﬁﬁ‘maﬁmﬁm#ﬁﬂmﬁ:

PR ————F UL L bbb

Wt faseq a1 594 ®iag
1) (o) 3 (d) @) (a3 (3) (b) 3 (d) @ (a) ¥ (d)

- ]
SR TR ’
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85.

86.

What is the advantage of field work as @ me

thod of social science 7

(1) Helps in testing knowledge of the students

(2)  Provides students first hand knowledge

(3)  Develops skills of presenting, proposing and arguing

(4)  Helps to memorize facts

s forqr o) g 5 A v (S ) A
(1)  Taenfefdi & qm diem § weg & |

(2) B s §E waE F
(B)” W N, YR Fen s wh w0 F dive famtea w2
(4) T2 W AR @A § weg H ¢

The distinctiveness of Adivasi socielies is attributed to :

(a) prevalence of caste system

(b)  practice of a range of tribal religions distinct from other prevalent religions
(c) distinct language use

(d) presence of little hierarchy

Choose the correct option :

(1) (a), (b), (c) and (d) (2)  (a), (b) and (c)

(3) (b), (c) and (d) 4)  (a), (b) and (d)
Sfeardl Fa Fi faferem #1 dm s g

(a) <Ifd e F Y=ed =l

(b) Wuﬂmﬂﬁfﬁ,mmquﬁ%wﬁ
(c) Tafere & wam =

(d) -9 H =\ Iufeufy =)

T I TG4 iy

M @ ) (::) 3 (d) @ @) s
3) (). (©) 3 (@)

p-11 (RO EE
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tures of 5 project work ?
to the students to #0 beynnd the textbook.

class. Id“a“)' be done at home so that there is more time for teaching in

1) (b) 3 (c) (2) ad (a) (3) @ () Uy (a) I ()

88. ‘.‘u’h.ich c;f the fnllnwing classroom activities will help students critically look at the role of media in
soclety ¢

(a) Asking students to have a classroom discussion on the topic ‘can the govt. prevent certain
news from being aired on T.V ? Why might it do so ?

(b) Asking students to bring clippings from different newspapers on the same issue and make
comparisons regarding how they have reported it.

() Asking students to collect news items they have received in whatsapp groups or through
social media platforms and using them as pedagogic resources.

Choose the correct option :

(1) (a), (b)and (c) (2) (a)and (b) (3) (a) and (c) (4) (b) and (c)

frefafag B @ F9-91 Fa nfafafy faafdai § gam § d@ifza #1 yiaw 1 seramos gfe 9 2@ 4
UeS H0 ?

() ‘@ e et @E T A T 2 e i i 2 faE v e g e

g gfta=i wEr |

(b) wwﬁmvﬁiﬁmﬂ-wwﬂ%wﬁaﬁwmﬁnmmaﬁww
HI Al S |

€ i@ ey 3 = e e R AR T P OE FEC G0 S Qe FnE & w
i gemE FE

e farpeq @1 =7 FWC|

(La) (b) 3R (c) 2) @ #T (b) (3)  (a) 3 () (4) (b) I ()

X 59
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T
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89,

0.

(2

D
¥ . ‘ ‘
ue about inguiry ;lpprmnl

Which of the tollowing, statements are tf

@) It encou rages problem solving shills.

(b) N helps find ways to gather and evaluate evidence.

(€)  Teacher decides the pace of learning.

() Ttisa quick wav of learniny,

Choose the most appropriate option . L) (4) (a), () and (d)

(1 @) and D @and@ () M@ andd

ﬁqﬁﬁ'ﬁ’iﬂ 3R wa N aowa ultges s EUR i # 7

(2)  TE sl a) yermn @) spmsdi w) waATEa FE P

(M) W WS uafEa | gewied w3 & ww w =y 1 sz T B

(¢)  {eriersn st w3 nfy ) T A £

(d) =T Us st | A W adwm g

Tax sfaw fawey = s Fifu)

(1) (a) () (2) (a) 30 (0) 3 ) () G (a) () FF (d)

Following are some questions/comments that you have received from your students in a class,

Which question reflects the student’s ability to critically look at the issue of poverty and

inequality ?

(1) Why does government give free goods to the poor ?  Won't it make them
lazy ?

(2)  Why is it that luxury cars and beggars can both be seen at traffic signals ?

(3) Why can’t poor people work harder to improve their lives ?

(4)  When will India become developed and get rid of poverty ?

fermferfian s/ fzoiforal A3 Sl U e & Frenferi A wra 7 ¥ 1 0 & - e Fenedt 3 T

7 AEEE F ge W A g B yfafata wwmm o

(1) FEH ﬁﬁfﬂwm_ﬁi%ﬁ%?wazﬁmqﬁwm;

(3) v wm AT S G F e sh s e i T s o

(4)
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91.

92.

93,

P

ﬂllump; Yuestions from Part-IV (Q. No. 91

LAN ] = -120), if they have opted
ﬂhGU._ﬁ,G_E—I only.

[ the qi:éa!iuns that follow. (91-99)

the -]
andg;:den when my daughter spotted a cluster of familiar red flowers.

ulled me dOWN to her he; ht M. looking excitedly at me as though she had a secret to share, she

had finished her sentence g!,.v_ :‘h“d Whispered in my ears. I shot up straight almost as soon as she

gmd idea to do so when ] " ' my mouth ajar, | was about to tell her that it was probably not a
45 transported to the time when I was around her age.

(it had been a rather lon )

was lined with b d'a} from school and I was dead tired. I was walking along the pathway
Lh.‘.ll ¥ rn,any mnr_l 1 ) L -
anything, he gleefully plyck “ Plants when my friend grabbed me by the arm. Before I could do
[ was not about to be 5“, c* ¢d a single flower from the cluster and showed it to me, Unimpressed,
the flower upside down E:I' ed by a puny flower and was about to admonish him when he turned
o its stalk. 0 show me aum almost invisible thread-like thing that protruded out

3 " d lh . f | [ ’e

He [:qu“ w:q i:l: }tLll!m? Ish.lhmad and right at the end of it, a tiny drop of nectar appeared. At
h‘asi {\r : ‘,k" : ha think it was, as it-was really quite sweet. That day we raided the ixora
plﬂﬂb‘i= ,;tf::‘_'{ 1d a lot trf fun, [ could still taste the sweetness till today. My daughter’s urgent
tug, roupAtt Me back to reality. T turned to my daughter and decided that she too needed to know
the joy of tasting sweet nectar from beautiful blooms.

'to be transported in time’ means

S —

(1) 1o take future decisions (2) travel backwards

(3) toindulge in time travel (4) recollect memories of the past

Identify the parts of speech of the underlined words.

| was transported to the time when | was around her age.

(I) noun, adverb (2) noun, verb

(3) adjective, preposition ~(4) noun, preposition

'l was about to admonish him ......

The underlined word can be replaced by the word -
(1) cajole (2) appreciate © (3) reprimand (4) refuse

: » can assume that the 2 characters shared the relationship of :
From the given anecdote, one can assuf elationship of

er and gmnd-child (2) best friends

(1) grandmoth
(4) school-mates

(3) mother and daughter

. 61 P
Wi
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96.

98.

99.

Read the fOllowinge somtormenc -
(.‘I) The 'L\'ri[pr“iiilt:m:::l:‘}_“ ' . . aTOTIeS ol he
. ! atised by the memt )
() The daughter's seerot brings back nostalgic memories ©
(l;') T'“‘ “'rill.‘l' wants hgr chi]d’ o be cunm‘l-'“-'d to lht" 5“"1‘{'[ P]{t
EZ; g“; _-:mll (t) are correct, (a) p. im‘t‘.lrl‘l't‘l e
(3) l and (¢) are furrucl. (b) is incorrect ;
(b) and (¢) are incorrect, (a) is correct
) (2) and (b) are correct, (¢) is incorrect ()
- |
In para 1, according to the mother it was not a pood idea to:
(1) walk along the pathway alone ) Y
(2)  taste sweet nectar from flowers [
(1) rﬂitl lht" i\l‘lrﬂ PIE“'IIH
() walk in the parden the whole day long

r childhood. |
f the school Jdays.

]

=
L]

Read the tollowing sentences

Assertion (A) :

The child was excited to share a secret with her mother.

Reason (R) :

The mother was in disbelief and went down memory lane.

(1) Both (A) and (R) are true and (R) is the correct explanation ol (A)

(2)  (A) is correct, but (R) is incorrect ,

(3)  Both (A) and (R) are correct "1

(4) Both (A) and (R) are true, but (R) is not-the correct explanation of (A)

r
1 i

Complete the word analogy :
cluster : bunch :: puny: 2

. =

(1) long-stalked (2) delicate ' Gj colourful (4) prickly
“To be dead tired’ does not mean -

(1) to feel refreshed (2) to feel too tired to walk

(3) to be exhausted (4) to be completely exhausted

Read the given extract and answer the questions that follow. (100-105)
My tea is nearly ready and the sun has left the sky;

Its time to take the window to see Leerie going by;

For every night at tea time and before you take your seat,

With lantern and with ladder he comes posting up the street.

Now Tom would be a driver and Maria may go to the sea;
And my papa’s a banker and as rich as he can bej

But L when I’'m stronger and choose v.:rlml I'm to do,

O Leerie, I'll go around at night and light the lamps with you

For we

are very lucky, with a lamp before the door;.|

d Leerie stops to light it as he lights so many marg;
::d O ! Before you hurry by with ladder and with light,

O Leerie, see @

' » thy
100. Identify the rhy
(1) aaba (2) abba 3 aabb .

little child and nod to him tonight 1™~

me scheme in lines 5 - 8,

abab

prt (RIS 62

e —

asures of naturc.

(% scanned with OKEN Scanner



‘the su
The l_‘!hhlﬁlf, sun hﬂﬁ I@
r:; it is evening time i l_l:" Hk}" indicates that -
( (2) it s mormning (3) itis forenoon  (4) it is afternoon

{01,

0 Why does the poet Consigdor himself I
- 3 0

l” He 1S HlI‘UI‘Iﬂ and thk‘ﬁn.t h"u.-

'S I \
Q) He has a -ru h banker father.
) He doesnt have 1o

be fortunate ?

¢ o make a choice in life,

liﬂht Othe

. r K )
{.n He has hght al niﬂht by pﬂ“}"lt‘b doors.

his door.

3. Read the following sentences -

(a) The poet ucc:minnnll}' has a light outside his door.

(b) The poet wants to be 5 banker like
(c) The poet is fascinated by the
(1) (a) and (b) are correct, (-c) 1S incorrect
(2) (a) and (c) are correct, (b) is incorrect
(3) (b) and (c) are correct, (a) is incorrect
(4) (a) and (b) are incorrect, (¢) is correct

his father when he grows up.

lamp lighter’s profession.

104. The poet looks at the lamp-lighter's profession with -

(1) confusion (2)  wonder (3) jealousy (4)  curiosity

105. With reference to the poem, complete the word analogy :
Leerie : lamplighter : @ father : ?
(1)  banker (2) rich businessman
(3)  driver (4)  sailor

106. A teacher at the secondary stage gives a text/short story and asks them to read and discuss the
Lthe ) A d
meaning and ideas of the text from the point of view of power and justice. What does the teacher

-
-

attempt to develop in the learners ?
(I) Higher order language skills (2)  Crntical literacy skills
(3)  Critical pedagogy (4) Critical language development

107. What is “interlingual identification” ?

(1) Leamer's understanding that learming of different languages warrants different abilities.

(1) t.‘]l‘l'h‘l‘"i illt-lp-nll'lrlt ll\ﬂt 5[1n1t?tl1int: ln tl‘l‘ I'Iﬂll'u‘u lﬂﬂ}',llﬂ!;t' t‘l1ll ‘!timt'll‘i“t: il" lht‘ tﬂrt.ul
- L . A ]

anguage are similar.

: .t something in the native language and something i \ .
(1} _earner's ]lldﬂn“‘“t that somu 5 anguage J me thlnh in the tarpet

anguage are dissimilar. |
() Leamner's judgment that the knowledge of the native language interferes in the leaming of
* ¥

second language.

. 63
MU d
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. tell the story i
ork in group to ‘
o work 10§ JassrOOM. What is thi

luﬂ. ¢ {Ir thL‘

asks learners

i"\ III“‘P.““H“ tl\ nll

whe o etory in Fnelisha uaf’
l““gllﬂ B aciueyr !l‘u‘.‘- 0 hllﬂ'_\ imn ! ng, . l 2 t-ﬂn'ln'iﬂn lﬂ“hl ),
peda BYS known 1o them and then in the
Hagorical «
Boglcal strategy known as ? Janguaging
(1) Lmiﬂllﬂ}'lv acquisition (2) b S48 .: teaching
i ' ruag e e
(3) Multlllnglml policy (4) AMultilanguag,

pairs are given & story of e,
other in the pair Writes thy
in the pair writes th,
compare their Writin,

in which the
and the
and the first
Later they

lnl_]. L] . " Aiart '

sentences, One in the pair reads out the first sentent i:!'n %
Sentence. Then other in the pair read oul second sere nl‘hl :
ﬂ‘}'“ﬂd sentence, Likewise the s t‘”'"l""'" s w]-m-! Y '-n 2 7
With the original tet given to them. What is this activity known &

(D Mutual Dictation (2)  Mutual Writing
() Mutual Li-‘-h'ninp (4) Sentence Dictation

110, know specific information. Thjs

% N . . A S T L] ) |
A learmner reads through the news item In the newspaper
reading is known as

() Study skill _(-3)_ _E;i;m] reading (3)  Skimming (4) Scanning

111. Procedural knowledge in the teaching-learning grammar is
(1) Knowing the language and its culture.
(2)  knowing how to do the grammatical item.
(3)  knowledge about the grammatical item.

(4)  knowing the rules of the grammatical item.

112. Shreya is a Class VI leamer who moves from the Jalander in Punjab to Madurai in Tamil Nadu as
her father has been transferred. -She knows Punjabi as her mother tongue and English language
she studies as her second language in school. She is able to speak and read Tamil learning from her
neighbourhood. Which one of the following statements is true based on the languages she now

knows ?

(1)  Her English comes under language acquisition and Punjabi and Tamil come under language
learning,.

(2)  Her Punjabi and Tamil come under language acquisition and English comes under language
learning,.

(3) Her Tamil comes under language acquisition and En rlish and Puniabi
learning. ¢ jabi come under language

(4)  All the three languages, Punjabi, Tamil and English under language learning

113. Malayalam spoken by a particular community in Koz

hikodi is slightlv di
spoken by others in the same place. What is the M ikodiis slightly different from the Malayalam

alayalam spoken by the particular community

known as ?
(I) ThE}' are two different Ianguagus (2) Two varieties of Mﬂlm 1l

. y ¥ ) -"I ﬂm
(3) Regmnnl dialect of Malayalam (4)  Social dialect of M“]“‘*nhm

| A :
p-11 BIEIAIT . P
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‘ “;-hich one of the fﬂ"ﬂ“ying i
1 other ton S try
' (1) M gue/ home lan ® Of the three language formula ?
2) Mother tongue /ho Buage /E,, lis] }
(2 L /Ei e be OM€ lap Blish as the first language.
3) English/Hindi/p, BUage /rogiq e firc
(- Mother to Mme I““gm glonal language as the first language.
4) ! 0 Ngue/ hnme langu &¢/local ]nnguage as the first languagu.
l 8¢/Hindi as the first language.
[lowing learning tagk ..,
15. Fﬂ . AT ? Was ﬂv
l learning actVity knoyyy, as. bivento learners in different groups. Find out what is this vocabulary

.d words and 1]11‘15 :
Fin Phirases Which relate o the following words
4 VOrds.

(1) Word Web

3) Word clusters (2)  Thematic Vocabulary

(4)  Cluster Vocabulary

16. A method of teaching in ywp; |
1 with different roles, Dl r}:Ch a teacher and four students form a collaborative learning group
proximal development in *f*)h'ui occur on the content of the text passage, which creates a zone of
‘ch reading comprehension improves. This method is referred to as :

(1) Model Reading (2)

) _ Grammar Translation Method
(3) Reciprocal Teaching (4)  Structural Approach

117. The language we use for day-to-day, face-to-face interaction is known as :
(1) Interpersonal language proficiency
(2) Cognitive Academic Language I’r;nfi::iunr:;,' (CALPD)
(3) Basic Interpersonal Communication Skills (BICS)
(4) Communicative language skills

118. Remedial teaching is for :
(I) learners and teachers to enhance the scores in the examination in language paper,

(2) learners who need attention on certain aspects of language learning,
(3) teachers who need to modify their teaching'for certain student to learn the language.
(4) learners and teachers to understand and modify/improve their teaching/learning strategics.

119, Which of the following is NOT true of Sign Language ?

(1) Sign language has a grammatr.
(2) Sign language has many varieties.

(3) Sign language is a natural language.
¢ not have a grammar.

(4) Sign language dot
i« NOT the purpose of extensive reading ?

(2) Reading for appreciation

(4) Reading for learning grammar

l :

> Which of the following,
(1) Rﬂading for pleasure
3) Rﬁ‘ﬂding for extrapolation

By 65
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L
{;" ‘3;, PART -V
e ot LANGUAGE - Il : ENGLISH

h )] ' — — — _'—'_—.——-__—.
IMPORTANT : Candidates should attempt questions from Part

have opted for ENGLISH as LANGUAGE-II only.
. —

————————l S G
-V (Q. No. 121-150), if they

—
—

Read the given passage and answer the questions that follow, (121-128) . ey s b
ather events or erratic seasond ity is, by

hange. Farmers were the first
affects the country S overall
turn, could result in people

. The loss in carnings that farmers see due to extreme we
now, accepted as the most widely felt economic impact of climate ¢
people to feel the impacts of climate change, which ultimately
agricultural output and adds to food inflation/ High food prices, in
slashing down consumption, which adversely impacts nutritional security. ‘
A significant number of farming houscholds produce food for their own consumption.. These
households have given birth to an old saying : those who eat their own food are the healthiest. In
countries like India, where malnutrition is high and food insecurity is a nagging cunstz!nt, su.('_h
houscholds have used the home production system to remain out of this crisis. As studies point
out, these households are also protected from market fluctuations, thus ensuring that they can

afford huﬂllh}' food. Obviously, they are not impacted by food inflation either.

But there are serious conversations taking place over how climate change-induced extreme weather
events would impact such households. We need to understand the link between nutrition intake
and household food production, and whether weather fluctuations would have any impact on
this. Rescarchers have analysed village level data from households with their own food production
and consumption, and co-related this with the local weather conditions to infer whether there
was a correlation. The paper establishes that people growing their own food consume more, thus
adding to nutrition levels and attaining overall food security. There was also reduction in child
stunting and underweight conditions as well as women achieving a normal body mass index.
These trends are more pronounced in remote villages,

IJ

"4d

121. Some households have remained out of the crisis of food insecurity by adopting -
7 home production systems . 7
(2) high food prices
(3) climate change conditions
(4) protection from extreme weather conditions

122. Identlify the parts of speech of the underlined words.

A significant number of farming households produce food for their own consumption

(1) noun, pronoun (2) adjective, pronoun
(3) adverb, pronoun 4  noun, adjective

123. As mentioned in para 1, what is the series of events that are
(a) increase in prices of food items |
(b) detrimental effect on n.u_lritinnal security
(c) extreme weather conditions

triggered by climate change ?

(,_1] reduced food mnsumplinn : . _1
W) () = (b) = (d) = () (2) (@)= (d) - (c)
(3) (c)—(a)— (d) = (b) @) (b (c) = ((::l) : EZ;

p-r1 ([ [HIRITIATER 70 - P
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124

125.

126.

127.

128.

Read the given extract and answe

_l"-l

MU

d the following SeNtences -

Rea oy
significant n
@ o0 hold f 1 10eT of Ingian households afford healthy food
ﬂ.’] HDI‘.ISC' ()Dd prl)ducljﬂn ha TS olds atlor ea ll:- C .
4y Food insecurity jg 5. ' has limited impact on food inflation.
(L) . ( -' U(‘l:a'ilnnal plwnunwnnn in India.
(1) (b)and () are incorrecy, () jo o
@ (@ ® and (©) are ajp o TS
@y (@) and (c) are INcorrect, (b) is correct
(_” (a) and (h) dare incnrmﬂ' (E] iS correct
B"l “.-hlfh word can thﬁ' underlined word be Iﬂplﬂfi‘d in the gi\'ﬂn sentence ?
‘These trends are more Pronounced in remote areas.”
(1) ignnred 2 disregarded /) important (4) noticeable

Complete the given word analogy -
local : global : : erratic : 2 '

(1) dependable (2)  believable 43T consistent (4) disputable
What is correct about the health status of farmers who take to household food production ?
(1) women with higher body mass index
(2) children are malnourished
(3)  better nutritional intake
(4) stunted growth of children
Which statement is incorrect with regard to household food production ?

(1) Increase in number of malnourished children

427 Nutritional intake was better

(3)  Food consumption in such houscholds was higher
(4)  Women enjoyed normal body mass index

r the questions that follow. (129-135)

two friends who have almost nothing in common,

rrench comedy about
Fren h« > on, how

But before the story became a cinematic sensati

Untouchable, a charming
with a criminal past become good

. ' COSS.
has been a huge international succe

: b 'rian immigrant
wacetle i P kronch aristocrat and an Algeria rant _ |
Sctly 16 A 1R X o rst met in Paris in 1993 when Philip was looking for a nurse. He was

[rom a very wealthy I'ﬂllﬂ:i ; -1 y aragliding accident and lost the use of his arms and legrs,
. ' g b | sib & 8 " " " "
great luxury. Then he I rine the future, and

e 1 - T sy
Life in a wheelchair was lone I

E 1s dav-to-
needed practical help W ith s :j “snple
» than 80 peopi

Pllili[" interviewed more it a life of cnme o
Then he met Abdul, who hm:;iuuick-lhin!\ing. with a crazv sense uf lu{muur. Philip got
He was lively, intelligent an f} .red him the job. The two men didn’t have much in common.
Abdul immediately, and he 0 ‘i sreferred classical music. Philip loved modern art.-l::ut Abdul
Abdul loved pop music, o Phl,lglit he had made a bad choice. They believed that I’!uhp needed

as Sule Abdul wasn't planning on staying in the job for long.

hated it. Philip’s family W .anwhile, :
il m::cIt[: ore sensible: \ feanwhi
P

71

terrible p . .
ind boring. Philip was struggling to 1ma;
d..l}' life.

for the job of a nurse. But none of them seemed ripht.

in Algeria and moved to France to look for work,
rot on with
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endship. Abdul gave Ph

kly develope f humour brought fun ap
tly, his energy A 0 her countries: Both of they,

il ke trips to ot
excitement back into Philip’s life. Abdul h*f-‘ll"_’;":i I::;I;Enr::ﬁ Thgj keep in touch regulﬂ;i};-r :tll thy
now live in different countries, each with ai:‘ilset}i:eir shared love of laughter and adve '

really matters to their friendship, though,

. d into a close fri
3. However, their working relationship qui¢
the support he needed. More importan

129. Complete the given word analogy :
Luxury : opulence : : sensation : _? feeling
25 . 7 e :
(l) SUSPiCiﬂn (2] diHﬂHlEr (3) C&',IHDUM'IES '44‘)’

130. What bound the two very different men together for years ? e
(1) their immigration status (2) their love for adventure Sport

» £} warm friendship (4) love for Mmusic

131. Why did Philip need a nurse ?
(1)  To resolve Abdul’s immigration status.

(2) To wipe out Abdul’s criminal past. |
(3)  To help him with day-to-day practical things of life.
(4)  To listen to classical music together.

132. Identify the parts of speech of the underlined words.
However, their working relationship quickly developed into a close friendship.

(1) noun, adverb (2) adjective, adverb
(3) verb, adverb (4) adjective, verb

133. Read the sentences given below :
(a) ‘Untouchable’ is a French comedy movie.
(b) The theme revolves around 2 friends, Philip and Abdul, who have similar tastes.
(c) The movie was a huge success in France and Algeria.

(Y~ (a) and (b) are correct, (c) is incorrect
(2) (a), (b) and (c) are all incorrect

(3) (a) and (c) are correct, (b) is incorrect
@) (b) and (c) are incorrect, (a) is correct

134. Which aspect of Abdul’s personality is not true ?
(1) He preferred listening to classical music.
(2 Hehad a criminal past record.
(3) He was quick-witted and supportive.
(4) He shared a close rapport with his employer.

135. Abdul migrated to France to -
(1) search for umpluyn.mnt
(2y workin the movie industry
(3) run ﬂWﬂy from the ﬁ]gEﬁan PDHCE

(4) listen to pop music

p1r (RGN T 72 ~ >
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136
W finalising,

g B
(3) Brain 8 . ml“g - jnulng dDW‘

finalising.

(4) Braining storming

finalizing,.

ﬂ)', All children begin ¢
add at least two mo

2) All children begin their schooling in the medium of English/home language and move on to

‘\'hlch ,[]f Lh{? fﬂ”(“\'ing Prm
Bﬁ]iﬂmg Etﬂrming

£5¢ 1 . .
_ jﬂttim involved for learning to write well in a language ?
g down points - making an outline - writing the draft - editing -

& an outline - drafting - jotting down points - editing - finalizing.
N points - writing the draft - making an outline - editing -

= Jotting down points — writing the draft - editing - making an outline -

& 15 true of the three language formula ?
heir schooling in their mother tongue/home language and move on to

re languages by the time they complete their high school.

add at least two more lﬂnguages by the time they complete their high school.

(3) All children begin their SChDﬂling in their state language and move on to add at least two

more l‘ﬂﬂgllﬂges .by [_he tlme ﬂ\E}' cnmpletc th[‘_"ir high Ef‘hﬂﬂl.
(4) All children begln their sclmﬂling in the official language, Hindi and move on to add at least
two more languages by the time they complete their high school.

138. Declarative knowledge is

(1) knowing how

to do the grammatical item.

2).. knowing to pronounce word in a language.
(3) knowledge about the grammatical item.

(4) knowing how

to identjf}' an error in a grammaticnl item.

139. Learners in a class of Social Science try to capture the main ideas of the classroom lecture and

make point of the le
1) Cognitive skill

140. Learning Outcomes

cture. What is this skill known as ? |
(2) Study skill (3) Listeningskill ~ (4)  Writing skill

attempt to enable learner to :

(1) attain language components in measurable terms.
(2) attain the grnnunaticul knowledge in measurable terms.
(3) attain the competencies in measurable terms,

J;D’ attain minimum levels of learning of all skills.

141, A teacher in class V

listen to the text carefully.
the one read out, not exactly the

(1) Listening task

(3) Paragmph Dictation

142, Elam is a student of ¢l
He uses all the four langud
Hindi, Kannada and Englis

this practice known
U} Interlanguage
(3) Code-meshing

“UR g

111 read out a text of five sentences in_ English twice and asked her learners to
Then she asked them to work in group of four to recreate text nearer to
same. What is this activity known as ?

(2) Writing task

(4)- Collective Dictation

ble to speak four languages, Kannada, Marathi, Hindi and English.
: when he speaks to his parents at home and in school he uses

are the language known to his f riends and teachers. What 1s

ass VII 15
£ freel}’
h as these

as ? (2) Translingual ability
(4) Code-moving

73 P
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— ' , formal properties ¢
143. Which of the following methods advocates oral drilling and “mastery of the

language’ as essential for language learning ?

(i) Total Physical Response

(2) Audiolingualism

(3) —Communicative language teaching

#)  Grammar translation method

her classroom

' - to
ate, utensils, boxes and pan _
e these nb]ECls

. ﬂ l'l.:"nr. {'h |
144 acher of class VI brouyht items like spoon, l!] A'hat are

teach vocabulary from there writing a description of obj
Known as in language teaching ?

— (1 Real life tasks (2) Teaching materials
(3)  Realia (4) Cooking items

145. Which of the following is NOT true of National Education Policy 2020 on language education ?

(1) Study of English as language under three language formula.

,(2) | Siud}‘ of a classical language under three language formula.

Wy Study of mother tongue/home language under three language formula.
(4) Study of Indian languages under three language formula.

146. Hon;: 1S @ question. Read and find out which typology of question it belongs to.
Having read the story of the little girl, you feel moved by her suffering and courage to face the
trouble. You would write a letter to the little girl appreciating her. Write the letter in about 120

words.
(1)  Discursive question (2) Expressive questions
(3)- Long answer question (4)  Extrapolative question

147. HLn 1S a szituulinn where students were exposed to the opposite perspective of the subject under
consideration to allow them to further understand it. What does this process attempt t
among learners ? ptfo promol¢
(1)  Literacy development “(2)" Critical analysis
(3)  Process based pedagogy (4) Critical Literacy

148. What is “Translanguaging’ ?
{1}~ Itis language-in-education policy on how manv languages are to be taught i hool
! n a school.

(2) Itrefers to moving from one langua

- 4 _ anguage to another language while i *

(3) It refers to understanding how languages change nl*:rer 1t)hu peri;;a;?lt?}:;-leztnm;g languages.
e,

--q‘ ,,-lI 1-] . ¥ - 2 [ _-l-
'( ) It IS « ] i Il gI ' ] -— 1 g I‘ % gll “_jl"‘ as IESHHTCES 1 \ l

149. Which one of the following statements is true of language learning ?
i g f

(L) First language learning and second language are completely distinct

(2) Knowledge of the native/first language interfores ; :
(3) Knowledge of the native/first languﬂgi has nnfll; ::1 g":nﬂ:iz liEﬂrnlng of seco

(4) Knowledge of the native/first language supports in the learn; f
Ing of s

150. This refers to the proficiency in academic lan
0 ey guage or lan
L) Cognitive Academic Language meiciencyg(CALP)
'(2) Inter-language proficiency
(3) Basic Interpersonal Communication Skills (BICS)
(4) Communicative language proficiency

p-xt (LI DL s
P
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